UTTAR PRADESH POWER CORPORATION LTD.

|Participant ID
Participant Name

Test Center Name

Test Date 08/11/2023

Test Time 9:00 AM -12:00 PM
Subject Technician Electrical

Q1 Toafef@a & O &0 Tivestx & 39 [UT &7 redt &7 U & e o smar 272
Ao TyEAfET (Spreadsheets)

X B aedg (Notepad)
X C. THUH-Z-HIY 2007 (MS-Infopath2007)
X 0. graygise (PowerPoint)

Question ID : 630680418716
Option 1 ID : 6306801633583
Option 2 ID : 6306801633585
Option 31D : 6306801633586
Option 4 1D : 6306801633584
Status : Answered
Chosen Option : A




Q2 SroffRg & ¥ Fia-ar ey v 3T s 7 o a8 8

) SR AaeEe

ii) T FHE

iii) A AT

iv) U% FTE-FAT AT Wi HIS H ANA-FANT HIS H g HaAl
KA 3R i e

v B v &ad

X c i, iii T iv FEA

X0 i, i 3T iv e

Question ID : 630680418704
Option 11D : 6306801633537
Option 2 ID : 6306801633538
Option 31D : 6306801633536
Option 4 1D : 6306801633535
Status : Answered
Chosen Option: B

Q.3  ug=e T B BT v Fum mew § W awe

i) ATEREREET UF SEmaEd Efeea 9T E

ii)mﬁmﬁw@ﬁw,mmﬁmﬁwﬁqﬁmﬁHMmﬁ%ﬁmﬁmﬁ
AT FAAT FT g T aTHAT @ ¥, T ASAY 2T H IEUE F T F HER e § AR 37 =R
39 T F 99T F+ E

iii) T ATSHIREIOR T HIE HIeT FF HT 394N S B
Ans X A j- 3TT, ii- I, iii- T

X B i- Hed, ii- T, iii- Hcg

X C |- ¥Fc™, ii- G4, ili- 38T
« D |- B, ii- g, lii- HcO

Question ID : 630680418744
Option 11D : 6306801633696
Option 2 ID : 6306801633697
Option 31D : 6306801633698
Option 4 ID : 6306801633695
Status : Answered
Chosen Option: D




04 st F R FT

THUH-TFA A T

Rraor

a) =TODAY()+1

) IE v, 2 A F a9, oA &

& ST gl

b) =COUNTIF()

i) 7% B, Rrem & B @
e fafYr gwe A g

c) =WEEKDAY()

iii) Ig weRE, T Tv AEeEr &
MY ST AT # 0T FIT 2

d) =DAYS()

iv) I8 FeF, e S & Toae F
e Fr g A g1 W T AR M

HEAT &7 2

Ans

XA a-iii, b-l, c-iv, d-ii

X B a-i, b-ii, c-iv, d- iii

X C a-ii, b-i, c-iii, d-iv

¢ 0 a- i, b-iii, c-iv, d-i

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418708
6306801633554
6306801633552
6306801633553
6306801633551
Answered

D




D F o HiT 3D R F gew P

Ans

i) EEfTeraEmhT (SLA)

i) Tofdea o= f¥efr (SLS)

iii) FI=s e AEfET (FDM)
iv) BfSes srse 99w (DLP)

v) dTelsie (PolyJet)

vi) STeHEaFH (DotMatrix)

X A gRaer i, i, iv JT v

X B grael i, i, iii, AT iv
X C &haer i, ii, iv 3T v
v O g i, i, i, iv 3T v
Question ID : 630680418752
Option 11D : 6306801633730
Option 21D : 6306801633728
Option 31D : 6306801633729
Option 4 ID : 6306801633727
Status : Answered
Chosen Option: C
Q.6 cATH TraTdEe 365 (MS PowerPoint 365) # TA Fa$s ¥ Yeiead % & & o fooafofea #
T FE FEE aicee FT IUDET AT S 2
Ans  >C A F9
X B. F5
X c F6
« 0. Shift + F5
Question ID : 630680418710
Option 11D : 6306801633562
Option 2 ID : 6306801633559
Option 31D : 6306801633561
Option 4 ID : 6306801633560
Status : Answered
Chosen Option : B




Q.7

IgEA Hitew o BT Tv wue wew § o srmed)

i) yETEt & g 5 e = F BT CSS Forw Ydwed w1 s9Aer B S §
i) <head> T H <style> 3TTF FT ITAET FF 'Internal' CSS Fr =T AT FehaT Tl

iy TRET STET CSS wiEw ¥ o a=a & BT <link> 3999 &7 39O 3% ‘External’ CSS & Figr
ST FeraT 21

Ans X A - HEST, ii- Ted, iii- Tcg
X B i- TcF, ii- 3MET, iii- T
¢ C |- Ted, ii- Ted, iii- T
X D |- HACH, ii- G, iii- J¥HcT
Question ID : 630680418722
Option 1 ID : 6306801633608
Option 2 ID : 6306801633609
Option 31D : 6306801633607
Option 41D : 6306801633610
Status : Not Answered
Chosen Option : --
Q.8

Ans

FA3E H AT F WA F A0 T & or et # § #i9-0 #0591 9eN, 359
TAT 7 teHEHT (abstraction) WaTA HTaT 27

X A

[T F 79 F swiege= 3T 491 & T F FedaT (Infrastructure as a Service and Software
as a Service)

X B.
[ar & T H SwEgF=T (Infrastructure as a Service)

X C FaT & FT H TFER (Software as a Service)
V0. [T & FT H “olcHH (Platform as a Service)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418745
6306801633702
6306801633699
6306801633701
6306801633700
Answered

A




Y SR & § F9-a 10T & T HewaeT A8 87

A X FATE e (Smart vehicles)
X B THTS geUshaT (Smart healthcare)
X c. TATC 9Tegele el (Smart pollution control)

v b TATEAE (Smartweed)

Question ID : 630680418750
Option 11D : 6306801633719
Option 2 ID : 6306801633721
Option 3 ID : 6306801633720
Option 4 ID : 6306801633722
Status : Answered
Chosen Option: C
Q10 rmfaf@e Jrree sest Bo= (Python lambda function) Teedie #T 3M3ede &1 &7
X = lambda a, b:a + b
print(x(5+2, 6+2))
Ans X A 30
X8 34
xc 10
¥ D 120
Question ID : 630680418733
Option 11D : 6306801633652
Option 2 ID : 6306801633653
Option 3 ID : 6306801633654
Option 4 ID : 6306801633651
Status : Answered
Chosen Option: D




AN w5 BerE =)

famer 2e1 F e V (Three feramor
Vs of big data)

a) aegH (Volume) i) F& TR & Iqcley 3T

b) F=NfAE (Velocity) i) AT TG F T, Y TR e Fm,
3T 95 I AEEd 0T a1 FE-TeTH
39I0T 9T fFerH

c) Rd (Variety) iii) a7 2T g 9v 22 9rew @ § 3

(ITE) 3@ 9T FA A AT

Ans X A a-i, b-iii, cHi
X B a-ii, b-i, c-iii
« C. a-ii, b-iii, c-i

X 0. a-iii, b-ii, c-i

Question ID : 630680418747
Option 11D : 6306801633710
Option 21D : 6306801633709
Option 31D : 6306801633707
Option 41D : 6306801633708
Status : Answered
Chosen Option: C
Q.12 it 9w A (RPA), =B F T H & S AT E, AT A & dw-3the wat
Hr bl i & (AT HEHUT Terellenl &1 ITUNT FGT ., SG a1 e, W o= v Wt @
TN F
Ans w "

¥ A HIFeIOY Uailead (software robotics)

X 8. 9AETT (shareware)

X c. grEaaY UeifesFd (hardware robotics)

X 0. FHITT (firmware)
Question ID : 630680418749
Option 11D : 6306801633715
Option 21D : 6306801633718
Option 31D : 6306801633716
Option 41D : 6306801633717

Status : Answered
Chosen Option : A




Q.13

e 'NTFS' #, 'N' e fw fow gy grar g2

X A Nano (a=)
X B Notch (aT=I)
v ¢ New (=)

X 0. Nearest (Faiee)

Ans

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option :

: 630680418738
: 6306801633672
: 6306801633674
: 6306801633671
: 6306801633673
. Answered

Cc

W ST F ¥ FiF-gr 39 IER TeamT

frrafaf@a arers #1s (Python code) & H3eye &1 872

Ans X A Linux

X B. ChromeQS

X ¢ Ubuntu

+ D Vivaldi
Question ID : 630680418725
Option 11D : 6306801633622
Option 2 ID : 6306801633621
Option 31D : 6306801633620
Option 4 ID : 6306801633619

Status : Answered
Chosen Option: B
Q.15

Import re
re.sub(r'abc’, '+', 'abcdef abexyz')
Ans X A 'sdef +xyz+'

X B 'defs +xyz'
« C. 'sdef #xyz'
X b 'sdef xyzs'

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

630680418737
6306801633670
6306801633669
6306801633667
6306801633668
Answered

B




Q.16  xfamT & 52 Scawart & To, Cc I7 Bee $1es # 3a8% 34 Tal T UF o3 a7 § Pewfaf@a &

T FiF-ET FUd T T 37
Ans X A

o Ieaeatit F &9 79 Ce Wres 7 &, § To 3R Bec $68 & §979 9 2@ T g1

< B.

TS STeaeRdlET & e Ua To Wies # &, ¥ Cc 3 Bee Fres & S8 99 @ Toha 21

X C.

Tafr grcasRar To, Cc HIT Bec Hieg & &7« Ual &' 3T Thd &1

o D.

S IregeRaTsT F S99 U Bee BeE F E, F To 3T Cc Freg & 3839 19 3@ TFa £

Question ID :
Option 11D :
Option 21D :
Option3 1D :
Option 4 1D :
Status :

Chosen Option :

630680418714
6306801633575
6306801633576
6306801633578
6306801633577
Answered

Cc

Q.17 i § & FiT T TFIaT TOET 0T, FiETRT T0ET 3T 79F 897 F & fBw 9

B ST B2

A X wHTE FF (MS Word)
X B. THUE diaydrse (MS PowerPoint)
X c. gs¥g (WordPad)

v D THUTH Taad (MS Excel)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680418706
6306801633543
6306801633545
6306801633546
6306801633544
Answered

D




Q.18 cgare Hiftw @ RT 717 wyw Tew § T wweT

i) grer SrnfEe &, TUe (tuple) STH AT T I £

i) IrUe SRNTHET &, 9 (tuple) S & 91 @H HSCH FI 9co, SIS AT geT Fel Herd|

iii) e SrenfEe #, ve (tuple) sEEE Fe A& & B

Ans X A j- HTST, ii- T, iii- HATT
B |- ", ii- e, lii- JHT
X C |- Hcd, ii- 3FHcT, iii- §c9
X D |- HHH, ii- ", ili-
Question ID : 630680418732
Option 11D : 6306801633650
Option 2 ID : 6306801633647
Option 31D : 6306801633649
Option 4 ID : 6306801633648
Status : Not Answered
Chosen Option : --
Q19 a/An T THipd 4@ g (IDE) § S 9w (Python) & @S HTET 2
Ans  x A Datagrip
X B. NetBeans
v C. |DLE

X D. Visual studio

Question ID

Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 630680418729
Option 11D :

6306801633638

: 6306801633636
: 6306801633635
: 6306801633637
. Answered

CA




W GrrAfefle TT@Ys (Python) IS &1 AT 3M3eqe #1 §7

import humpy as npymat
temparr = npymat .array( [[ 1, 2, 3],

[4, 2 5])
print("No. of dimensions: ", temparr .ndim)
print("Shape of array: ", temparr .shape)
print("Size of array: ", temparr .size)

Ans No. of dimensions: 2
« A Shape of array: (2, 3)
Size of array: 6
No. of dimensions: 2
x 8. Shape of array: (2, 3)
Size of array: 2
No. of dimensions: 2
X c. Shape of array: (3, 2)
Size of array: 6
No. of dimensions: 1
X 0. Shape of array: (2, 3)
Size of array: 6

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418742
6306801633687
6306801633690
6306801633689
6306801633688
Answered

(o]




Q.21 gg=irer 3w & By o1v o= 720 § a0 3797

i) ST AT, T (tuples’) TF 2T WK § ST #TEA i@ 9N Auh & wEiU @ g
ii) Y FET AT # Fee H ¥ A TN e F 0T HgEH 3 TER 0 39de far s g
iii) arrearE &, g, afae Ry B g T A $ WA (arrays) B

Ans

X A i- HACY, ii- I, iii- Hcd

B I~ ", li- ", lii- §cd
X C i- ", ii- 3\, iii- T
XD |- HAH, li- T, iii- ¥HFT

Question ID :
Option 11D :
Option 21D :
Option 3 ID:
Option 41D :
Status :

Chosen Option :

630680418731
6306801633644
6306801633643
6306801633645
6306801633646
Not Answered

Q22 Fopr #Ad A= # TERRE seRdl (Gaen & 3990w 9) #1 9 aeEA = 8

a) TET A1=C (Yotta Byte)
b) FeT STET (Zetta Byte)
c) U=Hr 915¢ (Exa Byte)
d) 9IT 91ST (Peta Byte)
e) T S5¢ (Tera Byte)
f) #I a1ge (Mega Byte)

ans Xaf e db,.c, a
X8 feab,,c.d
xec f,

¥

o D

e d c a b

e, d c b, a

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680418703
6306801633532
6306801633531
6306801633534
6306801633533
Answered

B




Q.23 ggerw Hifaw & Ry 710 Fyw g § A @

i) os Fsge AR FEASUS os.path F FEel R sERFEFEAT & Wy FH WS & BT weue @ §

i) os.walk FFeT HTTRT T ARG AR IWEHr Tt sTEeRfFeal B Tha s @ gleer aar §
iii) sys ASAA H exit AHF TF Farld gl § [FHFT FTAMT HRFR IEAH FT IE B b @0 G aw
TR E

X A |- HEH, li- T, lii- 38T
X B j- T, ii- HH, iii- Hcg
¢ C i- |, ii- ¥, iii- T
X D i- HACY, ii- T, iii- Hcd

Ans

Question ID : 630680418735
Option 11D : 6306801633662
Option 2 ID : 6306801633661
Option 3'1D : 6306801633659
Option 4 1D : 6306801633660
Status : Answered
Chosen Option: C

Q24 oz Rt T F Rv PRfRE & ¥ FiF @ guwst # sraegwar @ 32

i) TH" #F (Domain name)

i) B (Host)

iii) e (Content)

iv) FTaT TSHfEIT & TR (Approvals from security agencies)
v) SredaTs (DHTML)

vi) greged (CSS)

vii) THTE I (MS Word)

A X, i, il v, v, vi 3 i
KB i i 3T vii e
v i, i, 3T i Faer
X0, i, i, 3T v FEer

Question ID : 630680418741
Option 11D : 6306801633683
Option 2 ID : 6306801633684
Option 31D : 6306801633685
Option 4 1D : 6306801633686
Status : Answered
Chosen Option: C




Q.25 f=fafem & ¥ FiF-9 HTML &7, se (FR-HTML) tieares & e o eew fafese = &2

Ans XA <ins>
X B. <gm>
X C. <nav>
+ D <embed=>

Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

630680418721

6306801633605
6306801633604
6306801633606

: 6306801633603
: Answered
Chosen Option :

c

Q.26 a/an TH TUT-ET-ROT AT 7, S AT HEee W F F v v RRea wA A

fFemfea g e el & o de # aRenitE Far g

Ans X A %A (order)
X B. greYRrel (protocol)
v C TeiezH (algorithm)
X 0. 3IhA (sequence)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418727
6306801633630
6306801633628
6306801633627
6306801633629
Answered

B




¥ CEr=faf@d T (Python) SemTe &1 38T 3msede #4T 27

def my_function(fname):
print(+ fname + " Refsnes")
my_function("Emil")
my_function("Tobias")
my_function("Linus")

Ans Emil Refsnes

X A Tobias Refsnes
Linus Refsnes
Emil Refsnes
v8BTobias Refsnes
Linus Refsnes
+Emil Refsnes
X C +Tobias Refsnes
+Linus Refsnes
sEmil Refsnes
XD +sTobias Refsnes
sLinus Refsnes

Question ID : 630680418734
Option 11D : 6306801633655
Option 2 ID : 6306801633656
Option 31D : 6306801633657
Option 4 ID : 6306801633658
Status : Answered
Chosen Option: D




Q.28 ugea ifew s Tafafed & @ &i9 o 9enfdET #1g gratfes Janfier (Imperative programming)
3 feeeitfes wEnfEe (Declarative programming) &t e@erd T &1
i)
total = 0
List1 = [9,10,11,12,13,14]
for x in List1:
total += x
print(total)

i)
list1 = [9,10,11,12,13,14]
total = sum(list1)
print(total)
Ans o A
i- SFIIfET WrEnfEeT (Imperative programming), ii-ffeetfea SranfaEeT (Declarative programming)
X B.
i-f2FenfeT SEnfHeT (Declarative programming), ii- SFIfeT 9ranfEeT (Imperative programming)
5 C.
i- sFNIfeT 9ENTHT (Imperative programming), ii- SFIIeT 9EnfHT (Imperative programming)
X< D.
i-Bererifea dEnfder (Declarative programming), ii-Beetfes drenfier (Declarative programming)

Question ID : 630680418726
Option 11D : 6306801633623
Option 2 ID : 6306801633624
Option 3 1D : 6306801633625
Option 4 ID : 6306801633626
Status : Not Answered
Chosen Option : --

029 paRfEg & ¥ Fa-a/R givesw wwédvava (HTML) 35 véex 3

i) TeH (Atom)
i) TETEH eFEE (Sublime Text)
iii) farsparer ¥¢f3ar #1F (Visual Studio Code)
iv) #Aeds ++ (Notepad++)
v) 2% (JDK)
vi) HEHT (Safari)
A X Faer i, i, ATl
X B ael iv
s C e i, i, i 3R iv
X0 i, dii, iv, v 3T vi

Question ID : 630680418719
Option 11D : 6306801633597
Option 2 1D : 6306801633598
Option 31D : 6306801633596
Option 4 1D : 6306801633595
Status : Answered
Chosen Option: C




Q30 Srrfaf@a smsdr w2 (IP address) &7 FoTT T3 (class address) F4T &7

55.10.200.55
Ans A FeITT A
X B Fm® D
Xc g B
XD FomH C
Question ID : 630680418713
Option 11D : 6306801633572
Option 2 ID : 6306801633571
Option 3 ID : 6306801633573
Option 4 ID : 6306801633574
Status : Answered
Chosen Option: C
Q.31 gz 3w fie (IoT) sifor Trgat & Jeak F 0 = &, B * w7 & wefT e
ar g, S T F Ty wEEE g 2
Ans * . .
X A gerAfete fATeH (intermediate system)
X B FUIHCH (components)
X c. I3 (routers)
¢ 0. f27g (things)
Question ID : 630680418743
Option 1 ID : 6306801633693
Option 2 ID : 6306801633692
Option 31D : 6306801633694
Option 4 ID : 6306801633691
Status : Answered
Chosen Option: D




Q32 osit @ RemT 2
ST ST Rragor

(JavaScript events) | (Descriptions)

a) oncanplay i) TF AT ST AE A ¥ 9Ee W e B
b) onchange ii) 7 e FE I gl § S@ Afdar o ger ow F wHar
T Afha awfier & FROT TFAT 9T TRl B

¢) ondragend iii) 9% T 99 R A ¥ 5| #1E 39T SCAdr 8
d) onblur iv) a7 weaT fae B famr & aiF & Row @ 2
e) onbeforeonload |v) TF TEaT T R AT ¥ 99 fE v @ & &

Ans @ A a-ii, bHiii, c-iv, d-v, e-i
X B. a-iii, b-ii c-iv, d-v, e-i
X C a-i, b-v, c-iv, d-iii, e-ii

X D. a-ii, b-i, c-iii, d-iv, e-v

Question ID : 630680418724
Option 11D : 6306801633615
Option 2 ID : 6306801633618
Option 31D : 6306801633616
Option 4 ID : 6306801633617
Status : Answered
Chosen Option: B
Q33 Prafafga & @ 7 @ g9, Bweq &7 (system calls) ZaRT J&= Hr =T TE?

i) 9rEF feuee Us #3398 (Process creation and management)

i) f2aT=w g=ferT (I/0) (Device handling (1/0))

iii) 9reeFera (Protection)

iv) eafeeT (Networking)

Ans - .

XA FIeT i

X B e i, iii 3T iv

X C. Zhaer | 3T i

<00, i, i 3T v
Question ID : 630680418705
Option 11D : 6306801633542
Option 21D : 6306801633540
Option 31D : 6306801633541
Option 41D : 6306801633539

Status : Answered
Chosen Option: B




Q.34 gzow FifET & AR Fus TeT § w armen ¥

Ans

) $eTAT W FTTF T W T9T =, U Fafer & B femms 9=fy &1 39ger #ar g

i) FeTere SieieRe WERUT 4 (IPv4) Ererdi/amEst (TCP/IP) #iEe carT 39ameT fmar == aren &\
T (delivery mechanism) g1

iii) IPV4 9ot @7 8 SETH N ST S E

X A i- T, ii- 3\, ii- T
X B - HET, ii- 3T, iii- T

X C j- HHT, ii- G, iii- §cg
¢ D I- §cd, ii- Ecg, lii- 8T

Question ID : 630680418711
Option 1 ID : 6306801633565
Option 2 1D : 6306801633566
Option 3 ID : 6306801633564
Option 4 ID : 6306801633563
Status : Not Answered
Chosen Option : --
Q.35 gg=mw AT % BT v FuA Fe7 ¥ o wweT
i) fafees 9o $r M areafasar qunfear (virtual reality systems) &, sifhe 5 T2l grEeg
Fdrwansit = @ Fwer § 3% B e F Remad sfaRe # duw Fr gRer e & e
iy CAVE, Cave Automatic Virtual Environment (¥= 3Teifts adae vaaratese) & e wgoa @
gl
Ans X A |30, ii-TCT
5 -8, -8
X ¢ i-HHeT, ii-F¥ET
X 0. |-Hed, Ii-HAT
Question ID : 630680418746
Option 1 ID : 6306801633704
Option 21D : 6306801633703
Option 31D : 6306801633706
Option 4 1D : 6306801633705
Status : Answered
Chosen Option : B




Q.36 g Fiferw fF R v Fuw wow § @ awe

Ans

i) frEr JeEEe W A & EaEa oW @ TR 5 3 Gee s e o e we o &
ii) JETEet F BeET FT THEG, T AT T F Blee T F T F ITART TG AT = AR
Fifer e T7 Jfe el X safadl § T8 w9 ¥ Faa g §

iii) JeaTEe RS TS THY, FEHA B FA B A a0 =E # agoe § a9 it 50y aEe
aaffra gt 3T ateme g

XA |- 3FHA, ii- 4, iii- §cg
X B. |- {HcT, ii- T, iii- T
X C j- FT, ii- HET, iii- Tcg

« D |- B, ii- g, lii- BcO
Question ID : 630680418718
Option 1 ID : 6306801633592
Option 2 ID : 6306801633594
Option 31D : 6306801633593
Option 4 ID : 6306801633591
Status : Answered
Chosen Option: C
Q.37 wgu= Hifew & Petaaa e wog § @ ammew
i) 95 AEE T (WWW) @mm#mﬁmﬁ@sﬁ@wﬁwm%l
i) g1 ol o, Hﬁﬂmm@'@gﬁﬁm‘fwwmﬁ&ﬁ?gﬂ: ST F= & oY Seer st
I # RreTwdaar #t s Bl
iii) THAE AR, ATF ATT T Ao Tl FHT ORI (stream of bits) TN FH ATHF TEUAT 32T THEAT H
Franfera &2 £
Ans X A - HTST, ii- Ted, iii- Tcd
B i- Eed, li- Hed, lii- 3AcT
X C |- |, ii- e, lii- ™
X D |- H, li- 3FcH, ili-
Question ID : 630680418712
Option 11D : 6306801633568
Option 2 ID : 6306801633569
Option 31D : 6306801633567
Option 4 ID : 6306801633570
Status : Answered
Chosen Option: C




Q.38 wg= Hifsw v 1w Fua wey § a0 3w

FENE ofiEHT TS FeT B Gher & ¥
iii) TEdHETS & (HTML tag) &1 ‘wemd tEeag, Toeae YEegg g gl

X A I- Hed, li- {8, iii- cd

Ans

X B |- HHE™, ii- Hcd, ili- 38T
« C. i- Hcd, ii- 4, iii- T

) ifaedew ¥euE (tabindex attribute), HTML & Bt stew % & 3itsy ar Tfdse & &1
ii) TEFHEET TIETHTS UEgE (accesskey HTML attribute), 39 S9eiMdl &1 39 399l & T o

X D. |- HHcY, ii- Acd, ili- Hcd
Question ID : 630680418720
Option 11D : 6306801633601
Option 2 ID : 6306801633602
Option 3 ID : 6306801633599
Option 41D : 6306801633600
Status : Answered
Chosen Option: C
Q.39 :
=T 7 ¥ Fia-ar @3mse (CIA) &7 79T 78 22
Ans i . .
X A e (Confidentiality)
¢ B TATETAET (Authenticity)
X c. &R (Integrity)
X 0. 3fTYTESTS (Authorisation)
Question ID : 630680418751
Option 11D : 6306801633725
Option 2 ID : 6306801633724
Option 3 ID : 6306801633726
Option 4 1D : 6306801633723
Status : Answered
Chosen Option: D




Q.40 F=fafes & ¥ FiF-07 BeeT Toya ST o (Python programming language) & e e &2

Ans

i) SETYEAUF-4TT 9T (An interpretation-based language)

i) 3iesrae-3NTUeE-danTHT o197 (An object-oriented language)

iii) 3= T SRENTAEET ST (A high-level programming language)
iv) Fefer 9T AT #9T (A machine-dependent language)

KA et |

XE haer i AT i

X coi, i, i 3R iv
0 Fae i, i 3 i

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680418728

6306801633634
6306801633633
6306801633631
6306801633632

Status : Not Answered

Chosen Option :

Q.41 =fy 3 &r Fwar 13 & R et & @ 17 &, & vAww 7§ 365 (MS Word 365) daw # o fhast

e g
Ans XA 211
X8 210
xXc 212
v D 221
Question ID : 630680418707
Option 1 ID : 6306801633550
Option 2 ID : 6306801633549
Option 3 ID : 6306801633548
Option 4 ID : 6306801633547
Status : Answered
Chosen Option: D
Q.42 g #, Al Faer THFEEA T FSel 2T § o Uk grmus  (Python) ®iE #T &
&% g@y wmre= (Python) Stema & 3% g91c fFam = @ B
Ans X A dat
¥ B .py
X cC |st
X D. txt
Question ID : 630680418739
Option 11D : 6306801633677
Option 2 ID : 6306801633675
Option 31D : 6306801633676
Option 4 ID : 6306801633678
Status : Answered
Chosen Option: B




Q43 oat w7 e FY

fraciagcmicd o

a) TAMAT-FoN Feor@a (Symmetric- | ) I 31 A Wi A & s Fa fea

Key Encipherment) ST g1

b) IEAMAT-FA Feer@a (Asymmetric- | ii) I FHR F Feorae, Tinpeee iR

Key Encipherment) e QA & forw o & e it (secret
key) &1 39T @A ¢

c) ga=asuT (Hashing) i) 3 YR F Feo@a 7 g Hadt, o

TastA® il (public key) 3R T s it
(private key) & 39l fam smar &)

d) (TeI=Aramh) iv) U dehells &, UF T-clas aTe ToY A A
Steganography s Affaa-cas ey et aamn siar g

Ans X A a-ii, b-iv, c-iii, d-i

« B a-ii, b-ii, c-iv, d-i
X C. a-iv, b-iii, c-i, d-ii

X 0. a-iii, b-ii, c-iv, d-i

Question ID : 630680418717
Option 11D : 6306801633589
Option 2 ID : 6306801633587
Option 31D : 6306801633590
Option 4 ID : 6306801633588
Status : Answered
Chosen Option: C

Q.44 gzm= HifEw & HART Fu7 o8 § o 3w F

i) S-S fRee A S9eE (MMP) #, E57-T-85T a1 %, a6 o, aell Ao % g5 &
Tl ¥ Tl g afde @ § g S aa g e 7 @ #

i) E-SERAT e A#F deEe (MMP) TR @i & IREEET #t gerar 2

iii) 3T (e AEe vfeeE BR -0 ) Bl T R o g F vee g A
T & BT & TAE, THgd Wewd 3R Amse o7 Tl we & B e st awa &
T TF TE ¥

X A I- B, ii- G, ii- T
X B. |- HAH, li- TH, lil- AT

Ans

« C - HHE, ii- Fc, iii-
X 0. i- Hed, li- Hedh, lii- 38T

Question ID : 630680418715
Option 1 ID : 6306801633581
Option 2 ID : 6306801633582
Option 31D : 6306801633580
Option 4 ID : 6306801633579
Status : Not Answered
Chosen Option : --




Q45 ghuw vede 365 (MS Excel 365) & fe=faf@a & & #l9-9 7€ & 9oR &2

i) Fer (Bubble)
i) THeX (Scatter)
iii) TRET (Area)
iv) T2IT =I¢ (Radar charts)
v) TE =e (Surface chart)
vi) Sl (Doughnut)
e XK A Fer i, i, il AT vi
X B Fae i, i, v 3R i
X ¢ ae i, iii, v 3R vi

<00, i, iv, v 3T i

Question ID : 630680418709
Option 11D : 6306801633557
Option 21D : 6306801633556
Option 31D : 6306801633558
Option 41D : 6306801633555
Status : Answered
Chosen Option: C
Q.46 aYS H ARG & IR A FEaied # d ®id G FUd T 28?2

i) TE TF WEAT ¢ ormH arays g T Fua @y gl

i) 7g e, g AT fvee F afenfa s a@war

iii) SEF @ F TRT (runnable) F1E & TFa 2l

Ans g

A 3T i

X B Faer i 3T i

7 C e |

X0 Faer i 3 i
Question ID : 630680418736
Option 11D : 6306801633663
Option 2 ID : 6306801633666
Option 31D : 6306801633664
Option 4 ID : 6306801633665

Status : Not Answered

Chosen Option :




Q47 few v SafEeee W (JavaScript function) & Tafari@a & & FiF-ar Teama=T (validation)
fET 87

<script>
function validateemail()

var x=document.theform.email. value;

var attheposition=x.indexOf{"@"):

var dotposition=x.lastIndexOf("."):

if (attheposition<1 || dotposition<attheposition+2 || dotposition=2>=x length) |
alert("Please enter a valid e-mail address “);
return false:

i
§

¥
i

</seript>

< .'bod'v";

<form name="theform" method="post" action="#" onsubmit="return validateemail();">
Email: <input type="text" name="email"><br>

<input type="submit" value="register">

</form>

Ans X A
SN A @M comFFT @ F I M IE T FT I FA & S i . T Fag &
FH § FH 3 FFeL g AT

X< B.
TS feidit. O FF @i R NI T I I SR . ) Fae F
T T F7 & FiFe @ TRl

X c

Gy fei. o FF @i iR i s o iFI . @O Faed
T F HF IR FIFET @6 e

«" D.

e @A, O FFL @ T I IR IS T FA I FAF FFI 3N . B Fag &
FH ¥ HH 31 HIF g AR

Question ID : 630680418723
Option 11D : 6306801633612
Option 2 1D : 6306801633613
Option 31D : 6306801633614
Option 4 1D : 6306801633611
Status : Answered
Chosen Option: C

Q.48 ux 7 wHTE TE 365 (MS Word 365) sz &4 F v m=fafas & o fw @18 aiéwe =
e T S ¥

Ans @A Ctrl + N
XB Ctrl + F
XCCtrl + D
XD Ctrl + O

Question ID : 630680418740
Option 11D : 6306801633680
Option 2 1D : 6306801633681
Option 31D : 6306801633682
Option 4 1D : 6306801633679
Status : Answered
Chosen Option : A




4 Frafaf@e @y STE (Python program) #T 38 HT3eTE F4T &7

for n in range(2, 5):
for x in range(2, n):
if n % x == 0:

print(n, 'equals’, x,

+', n//x)
break

else:
print(n, 'is a prime number")

A XA2s2sET 4T

3 Ueh HH=T TEIT &
2 « 2 ET 4 @AT &

3 UF HAT=T TWEAT §
2+ 2SS 4 @aT §
X c. 5 UH ST HEAT &
5 U 9T §CEIT &
5 UsF 9T T§EIT £

o B.

XD 3 UF HA=T FEIT ¢

Question ID : 630680418730
Option 11D : 6306801633641
Option 2 ID : 6306801633639
Option 3 ID : 6306801633642
Option 4 ID : 6306801633640
Status : Answered
Chosen Option: C
030 Srfafea 3 - T :
H H ATV sl A Fe@T FF THE HaaaT g/a?

i) FaRa sgr@mar dieaif@ehr (Distributed ledger technology)

i) 3afEasr WE (Immutable records)

iii) TS FlecFed (Smart contracts)

A i s
®OXA FET AT

X B el i

X C e i

0, i 3R i
Question ID : 630680418748
Option 11D : 6306801633712
Option 2 ID : 6306801633713
Option 31D : 6306801633711
Option 4 ID : 6306801633714

Status : Answered
Chosen Option: B




Section : General Study & Logical Reasoning

Q1 iy ¢ = ad '+ &, W o oay xR, % o e ek @ F e - R, R g &

oA g (?) & TE W ST HEEm?

9E21%T7T@9%23=7

Ans o A 53
X B. 35
xc 27
D 41
Question ID : 630680418771
Option 11D : 6306801633804
Option 2 ID : 6306801633806
Option 31D : 6306801633805
Option 41D : 6306801633803
Status : Answered
Chosen Option: D
02 frafafe Tiw0T 2 FIE F0 F BT e o Reat @ amw F Feaan AR
17-5x16 + 2 + 13 = 44
A
XA = a3l x
X8 - 3T x
V0 = 3T +
X0 o+ 3R +
Question ID : 630680418772
Option 11D : 6306801633810
Option 2 ID : 6306801633807
Option 31D : 6306801633809
Option 4 ID : 6306801633808
Status : Answered
Chosen Option: C
Q.3 WRd &l Al afed & 3 afefem & afgem wf (women's fours event) & wIgAaTd ______ ekt 17-
10 9 gRIehR TS WAl ohl ST UgeAT TI0f Ueeh Stideh sfagid =l
Ans o A TTETOT STTRTERT
/< B. IR RS
X C.3wfs
X D. whiests
Question ID : 630680418760
Option 11D : 6306801633761
Option 2 ID : 6306801633759
Option 31D : 6306801633762
Option 4 ID : 6306801633760
Status : Answered
Chosen Option: D




Q4 CrffEE FEH 1 CoagEs HeqgT FY AR BT 70 ge #7 3=w &
HHT F, A GAT T TR F T F Fead Bhar I

#¥F |3 (2 |7 |1 |o |6 |8 |5 |4 |9

FT | (£ |8 (B |2 ¥ |% |[& @ |€

[N

ot
1. A wgem 3% Fww ¥ i e s wE §, A a F 4 F w7 F geas B e
2. ofg wgen s 3w e wA €, O S F TS 3 & T gEN peas AT S
3. 7fy TFen st few 3w Rww €, O B i AW iF F FT F vw F sger e
4. T wgen 3% TH ¥ 3R AEw w Buw & O @ w7 e 3w 5 S @ geas e Ao
'59426' QT@'Q’WEECW
Ans A BE@EH
o HE@LH
X c. H@EEH

X 0. HE@EY

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418766
6306801633784
6306801633785
6306801633783
6306801633786
Not Answered

Q.5 'z $10 feforam v geaes & v @i+ &7
Ans X A FUTE ag

X B. @

o C. gV <z i

K D. Frforar deegH

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418757
6306801633747
6306801633749
6306801633748
6306801633750
Not Answered




Q.6 ____, qeehiA=-uYd SR wafeed & fiomgR o d arerdt & ure ugrdh &6t 543-44 CEF g

Ans

worgd foret & aRafeda aedh eram o Y g =t of, & ary dusy s 591 maI
< A. TR (Cheras)

/X B. ucerd (Pallavas)
Z< C. ui=ar (Pandyas)
& D. I (Chalukyas)

Question ID : 630680418754
Option 1 ID : 6306801633738
Option 2 ID : 6306801633736
Option 31D : 6306801633735
Option 4 ID : 6306801633737
Status : Answered
Chosen Option: B
Q.7 ent ¥ IR O o ww § Ge @ O e 7 Ol 90§ wwaae € i o e &1 3
FEIT H-AG N 9qA F
Ans X A OQPR
v B SVTU
X ¢ EGFH
X D [KJL
Question ID : 630680418765
Option 11D : 6306801633779
Option 21D : 6306801633781
Option 31D : 6306801633782
Option 41D : 6306801633780
Status : Answered
Chosen Option: B
Q.8 @i qare et grRT_____ # wifia o a9ret 3 IwR WRa A g onf 7 gur o ek
feram
Ans  # A 1875
X B.1877
X c.1878
X D.1876
Question ID : 630680418756
Option 1 ID : 6306801633743
Option 2 ID : 6306801633745
Option 31D : 6306801633746
Option 4 ID : 6306801633744
Status : Answered
Chosen Option: C




Q9 Rt ¥ 3T OO F TOS F{, T & T smer ¥ NFd Ty # HFw w9 ¥ @ F 97 AT &

T HET

BC_DB_A_BCA_BC_D

Ans X A ACDCA

+ 5 ACDDA
x ¢ ACADA
X< b. DDAAC
Question ID : 630680418763
Option 11D : 6306801633774
Option 2 ID : 6306801633772
Option 3 ID : 6306801633773
Option 41D : 6306801633771
Status : Answered
Chosen Option: B
Q.10 RN fAwsh A s+t f[RAFA =) Yoo FeA iR W ot et A Aot @ =nfoa A & a1g,
 ToRTE & &5 J 31T ugern if A gl
Ans X A 1199
< B.1399
& C.1299
/< D.1099
Question ID : 630680418753
Option 11D : 6306801633732
Option 2 ID : 6306801633734
Option 31D : 6306801633733
Option 4 ID : 6306801633731
Status : Answered
Chosen Option : A
Q.11 =7 fFeT & 799 F 3G9 FET-THE T 30 THEL TaO 8, OF TR @0 WA we R
TAE | FERT B
CEGI : PRTV :: ADGJ : ?
Ans A NQTW
X B MRSV
X c MSUX
X b TWNQ
Question ID : 630680418769
Option 11D : 6306801633797
Option 2 ID : 6306801633795
Option 31D : 6306801633796
Option 4 ID : 6306801633798
Status : Answered
Chosen Option : A




12 & o AFFL F AR HeTTA FL HR U 7€ 997 F 501 &)
P@ Q & 3T E P, QF AL
P& Q & HTE P, QF g &
P # Q @ HY E P, Q @ 9 B
P % Q & 3T T, P, Q Frar
PSsQFanry P, Q#F Y
TAFA¥B%C&D@E #D F AT FI T 872

Ans
XA TE
2
X B OreT/ATr
X C Rar
o D. qaa
Question ID : 630680418767
Option 11D : 6306801633787
Option 2 ID : 6306801633788
Option 3 ID : 6306801633789
Option 4 ID : 6306801633790
Status : Answered
Chosen Option: B
Q.13 fagy U waesar gahich 2022 (World Press Freedom Index 2022) o 3HR WRd <hl Ik a1
Ans X A 159
X B.162
K C.142
o D. 150
Question ID : 630680418759
Option 11D : 6306801633758
Option 2 ID : 6306801633757
Option 3 ID : 6306801633756
Option 4 ID : 6306801633755
Status : Answered
Chosen Option: C




Q.14 3 sew-mag fv v § G @ &9 5 7 Gl 9is @ A € 3R v e §) 3E -

THE WEg F T W

Ans X A TVWU
< 8 MOPN
X c FHIG
« 0. KMLN
Question ID : 630680418770
Option 11D : 6306801633802
Option 2 ID : 6306801633799
Option 31D : 6306801633801
Option 4 ID : 6306801633800
Status : Answered
Chosen Option : D
Q.15 WEH gaaiiRaw 3k ¢aet wewhid gindent (DreamSetGo) A ______ @t 39T UgelT siis
gause gifta fRar 81
Ans X A =ReTosT
< B. gita it
o C. ORa Tieit
X D. & am
Question ID : 630680418761
Option 11D : 6306801633765
Option 2 1D : 6306801633763
Option 31D : 6306801633766
Option 4 1D : 6306801633764
Status : Answered
Chosen Option : A
Q.16 3 MeE-gFH F AT F G &Y g T HeY g § S v v weg-gew gawr g A g
Freamere ; dter
Ans %
X A B @ @R
X B zfefer ; oeT
v C ETRIOT @ §=aT
X D. ﬂlal gBi el 3"||ﬁ Tl hed
Question ID : 630680418768
Option 11D : 6306801633794
Option 2 ID : 6306801633792
Option 31D : 6306801633791
Option 4 1D : 6306801633793
Status : Answered
Chosen Option: C




Q.17 ______ faean gafdars @9 (1861) 3R Sah-T gogeha HiTsdl & dwimueh i
Ans X A. IS AW Hig9 719 (Raja Ram Mohan Roy)

«# B. AigIed Mfdg T (Mahadev Govind Ranade)
< C. 2R dI< fdgmarR (Ishwar Chand Vidyasagar)

25 D. 1. 377eAT I uigaT (Dr. Atma Ram Pandurang)

Question ID : 630680418755
Option 11D : 6306801633742
Option 2 ID : 6306801633740
Option 31D : 6306801633739
Option 4 ID : 6306801633741
Status : Answered
Chosen Option : A
Q.18 fFAfafEd wite i & @ 19 a1 oW 9 dafda 7l &2
Ans X A. arefi-g forfi (Ali -Ai Ligang)
X B. @t (Deodhani)
X C.fag (Bihu)
o D. f&t &9 (Singhi Chham)
Question ID : 630680418758
Option 11D : 6306801633751
Option 2 ID : 6306801633752
Option 31D : 6306801633753
Option 4 ID : 6306801633754
Status : Answered
Chosen Option : A
Q.19 3= 145(3) & agd, "fhelt +ff amret A e d@faum= hY sarear & wu 7 RAfS o1 Ry us
A giar 8" (“any case involving a substantial question of law as to the interpretation of
the Constitution”) &9 @ &H =grarsfient i d R Ta frar s gl o S w6t
Gfur S shgr ST 81
Ans X A 15
X B.10
& C.5
X' D.9
Question ID : 630680418762
Option 11D : 6306801633767
Option 2 1D : 6306801633768
Option 31D : 6306801633770
Option 4 1D : 6306801633769
Status : Answered
Chosen Option: D




Q.20 T viv ReFedt # F 5F TG F AT B AT SFAGET HEeT F AR FEd (?) F AorniE

T B

Y2880, W480, T96, P24, K8, ?

Ans X A E2
X5 F6
v E4
X0 F2
Question ID : 630680418764
Option 11D : 6306801633775
Option 2 ID : 6306801633776
Option 31D : 6306801633778
Option 41D : 6306801633777
Status : Answered
Chosen Option: C
Section : General Hindi
Q.1 = d & el geraw 8-
Ans X A. 3ifEl wR g we
/< B. 3iil W RepTs Tem
o C. oifEl IR =&l ggr
< D. 3@l W AYerar TeAT
Question ID : 630680418779
Option 11D : 6306801633837
Option 2 ID : 6306801633838
Option 31D : 6306801633835
Option 4 1D : 6306801633836
Status : Answered
Chosen Option : A
Q2 ‘it w1 afa P d @ -
Ans X A dier
< B. e
o C. forer
< D. 3
Question ID : 630680418780
Option 11D : 6306801633842
Option 2 ID : 6306801633839
Option 31D : 6306801633841
Option 4 1D : 6306801633840
Status : Answered
Chosen Option : A




Q.3 ‘e @ et oz 8-
Ans X A faema

X B.I=®
X C.uER
o D. dgfa
Question ID : 630680418781
Option 11D : 6306801633844
Option 2 ID : 6306801633846
Option 31D : 6306801633845
Option 4 ID : 6306801633843
Status : Answered
Chosen Option: C
Q.4 g famara Y gf® @ g arer &1 9eA RS-
Ans X A FAR STH &1 39 aY ot faygfiemera fr w@of st & w0 & g4 gy 81
«" B. 3T I ot fasgfaerera i wof St & ®U 8 7918 19 &1 g6 8y 8l
X C.&H &Y & fayfoemea &t wof Sdt & w0 § 791 S 61 39 Y ot |
X D. fagfenerg &t wof s/t & Fu § 591 99 &1 59 a9 it g8 g B
Question ID : 630680418774
Option 11D : 6306801633816
Option 2 ID : 6306801633817
Option 31D : 6306801633818
Option 4 ID : 6306801633815
Status : Answered
Chosen Option : D
Q.5 UMY adAE & I fohar ue 9§ are gof -
ufafes ame & et 5:30 Tt Reet S Rg agfd gars sierer |
Ans o A TBEarg
X B.f@w g
X C. Wemar g
< D. e
Question ID : 630680418776
Option 11D : 6306801633823
Option 2 ID : 6306801633826
Option 31D : 6306801633824
Option 4 ID : 6306801633825
Status : Answered
Chosen Option : A




Q.6 g fa=are i gfE & g are &1 9e= FifSig-
Ans X A URUIH g g1 SrETaeT sl 3G 3 59 R T

w” B. ITH! STGYT T URUIH g §3T foh 89 R M1
< C. o 39 gR 7 URuITH g g1 IHh! Srdraerit
25 D. 87 gR T foh uRuIm ag gorm Ieh Sraraet

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status

630680418773

6306801633811
6306801633812
6306801633814
6306801633813

: Answered

Chosen Option : B

Q.7 = | fore ggrer o1 oref ‘w=A arer g @-
Ans X A 37e-dd AT

& B. 3@ g g1
25 C. 319 9 ST
X D. 3@ TR AT
Question ID : 630680418778
Option 11D : 6306801633833
Option 2 ID : 6306801633832
Option 31D : 6306801633831
Option 4 ID : 6306801633834
Status : Answered
Chosen Option : D
Q.8 FIeqHs o= w1t i gt d wgl ar &-
Ans X A g fhdE ug B 91
X B. 3T shetd W ot
X C. 39+ @ W@ ferar ghmi
& D. 311U FHHTY dt g9 @Y
Question ID : 630680418775
Option 11D : 6306801633822
Option 21D : 6306801633820
Option 31D : 6306801633821
Option 41D : 6306801633819
Status : Answered
Chosen Option: D




Q.9 = d & i=-ar faew g srgafera 8-
Ans o A dR - ardlR

/X B.3Y - 3@y

X C.fafga - srfafea

X D. &afes - srdafia

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418782
6306801633849
6306801633850
6306801633847
6306801633848
Answered

A

Q.10 &R vy Rg wain fi g @ siyg arw &-

Ans X A Q& HIg, & Mg SR Igd O SehRaAT AM R ARG 8 1
7 B. Ta witeT, &l Tag ok g O gehial e & TR @ g
X C. g BtgT, 3 7eg R aga ©ff qerRar #a ol TR @ & 1
o D. T T1gT, & Tag SR g O ahival #a H TR @ &l

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418777
6306801633827
6306801633828
6306801633830
6306801633829
Answered

B




Comprehension:
frafafea e @l eagdes ug ok U T ARSI

STTERdT &I | ArHTISIeh Siiae 3fR T<epfd el WY aTd ST3dT TR denter UR R off | T e, &, el
AT SR STIf & SR W At &1 S fégatt o amifeies sitae ot g fasivar off ffg ar aort &
Sifafeh s STfad 8 5 gg &1 sgqor & Aq<a # S=a Sifadl & 99 anfore ufasT ok fawfier
TR 379AT UhIAhR hiaH oh T AT Siasiiaid faargt it aamel ofY | srfaua fafaat & 3= sifaat & o
BIE STIerat & AT a1 Q3T W1 ol @I & | FgeT Sfadr gt ot &t (afRa st off | gaeme of sfa,
T, eheltet iR gof Y gf® T on fawTfora 78t &1 gTatior Sk enf & amTfores Tamar ot fAder feam o
STaTExdT T & 9RT H URAR <l e fUgeedraes off | Tufxt & ST Rth qoul ot gt firetdT 2
TR IR oh AR TG H URAR AU 7| AT JAT U] & &0 # S el 317ex fam S omigaf
SRR I=a I A g1 waferd oTl it anfeat uRar & ue aa a3 gewi | Sgliars & uee il
1-foraTg v AR 321 7 yaferd off | I ot # il iR R @At e SR gt & hl Ut Taferd ot
o1 <l 3 9t grTfores Gfaar off Tt ne ok faerarstt & @vre srawm It g A ufd i R =
farerar Sit @t off Fo1 T Smar o1 & feror uRa & ag vt vafed T8t o mRiet 7 off 3 Ferer A8l
fareran fare 3= sifaai & yaferd g 41 fhg TERTE & TR SITE0T SiTe 3R IR YR & UgTe! &3 &
STl & faerar gAfdare srhl vaferd o071 SR & o STafdg iR FR1sT SATUf tRYRM A1ss A fear
YAfaTE ol aIgTar &7 I STItheT IR |

SubQuestion No : 11
Q.11 i see & deaf sraey -
Ans X A 33 Sifadl ot faRienfdesr ure 2

o B. G H G o &y Sifa uem g ot
X C. siquifdia faarg di Aer ot T2 HImyd 1 T ol
2< D. ut a1 fRerfRor off emaai wr Sshfa & ghar am

Question ID : 630680418786
Option 11D : 6306801633859
Option 2 ID : 6306801633860
Option 31D : 6306801633862
Option 4 1D : 6306801633861
Status : Answered
Chosen Option: B




Comprehension:

frafafea e @l eagdes ug ok U T ARSI

STTERdT &I | ArHTISIeh Siiae 3fR T<epfd el WY aTd ST3dT TR denter UR R off | T e, &, el
AT SR STIf & SmeR R fAenfSia &1 s fégatt o amfoies sitae ot g fasivar off ffg ar aort &
Sifafeh s ST 8 ¢ gg &1 sgqor & Aqa # S=a Sifadl & 99 amrfore ufasT ofk iR
TR 379AT UhIAhR hiaH oh T AT Siasiidid faargt it qamet ofY | srfaua fafaat & 3= sifaat & o
BIE STIerat & AT a1 Q3T W1 ol @I & | FgeT Sfadr gt ot &t (afRa st off | gaeme of sfa,
T, eheltet iR gof Y gf® T on fawTfora 78t &1 gTatior Sk enf & amTfores Tamar ot fAder feam o
STTERdT T & 9RT H URAR <l e fUgeedrae off | Tufxt & ST Rth qoul ot g fivetdr o
TR IR oh AR TG H URAR AU 7| AT JUT Ul & &0 # S el 317ex fam S omigaf
SRR I=a I # g1 waferd oTl et st uRar & ve a7 a3 gewi | ggfiars el uee il
1-foraTg v AR 321 7 yaferd off | I ot # il iR R @At e SR gt & hl Ut Taferd ot
i1 <l & It T gfaar off Tt ne SR faerarstt & @vre srawm Il g A ufd i R =
farerar St @t off Fo1 T Smar o1 & feror wRa § ag vt vafod T8t o miet 7 off 3 Ferar A8t fam)
farerar foaTeg 3= st & gaferd gt 4T fhg HERTE & TR SITE0T SiTe 3R IR YR & UgTe! &3 &
STl & faerar gAfdare srhl vaferd o071 SR & o STafdg iR FR1sT SATUf tRYRM A1ss A fear
YAfaTE ol aIgTaT &7 I STItheT IR Y|

SubQuestion No : 12
Q.12 erier @ A 98 fReherar &-
Ans o A Ol & arfSies gom S ot
X B. T=d: GHTST GTH T AT Yeh-37Te STUATE BIgas|
< C. Tyl GHTST S&t JUT SIF=aT 9§ 7% T
2< D. guTsT avof, o, Sfa enfe et R fafora am

Question ID : 630680418788
Option 11D : 6306801633867
Option 2 ID : 6306801633869
Option 31D : 6306801633868
Option 4 1D : 6306801633870
Status : Answered
Chosen Option: C




Comprehension:

ffafea e @l eargdes ug ok U W AR

STTERdT &I & TSI Sfia- 3R T<epld el WY ITd ST3dT 7R dehter TR R off | R e, &, el
YT SR STIf & SR R Aot &1 s fegatt o amfies sitae &t g fasiar off ffg ar aort &
Sifafeh s STfad 8 5 gg &1 sgqor & Aqa # S=a Sfadl A 99 amnfore ufasT ok fawfder
TR 379AT UhIAhR hiaH oh T AT Siasiiaid faargt it aamel ofY | srfaua fafaat & 3= sifaat & o
BIE STIcrat & AT a1 Q3T W1 ol @I & | SgeT Sfaar gt ot &t (e et off | gaeme of sfa,
T, heltet iR gof Y gf® T on fawTfora 78t &1 gratior Sk enf & amTfores Tamar ot fAder feam o
STaTExdl T & 9RT H URAR < e fUgeedrae off | Tufxt & ST Rth qoul ot gt fivetdr 2
TR IR oh AR TG H URAR AU 7| AT JAT U] & &0 # S el 317ex fam S omigaf
SRR I=a I A g1 waferd oTl it anfeat uRar & ue aa a3 gewi | Sgliars & uee il
1a-foaTg v AR 321 7 yaferd off | 37 ot # il iR R @At e SR gt & hl Ut aferd ot
o1 <l & It Tt gfaar off Telt ne SR faerarstt & @ve srawm It g A ufd i R =
farerar Sit @t off Fo1 T Smar o1 & feror uRa & ag vt vafed T8t o mRiet 7 off 3 Ferer A8l
fareran fare 3= sifaai & yaferd g 41 fhg TERTE & TR SITE0T SiTe 3R IR YR & UgTe! &3 &
STl & faerar gAfdarg srhl vaferd 271 SR & o STafdg iR FR1aT YATUf tRYRM A1ss A faear
YAfIATE ol SIgTaT 37 Al STItheT IR Y|

SubQuestion No : 13

Q.13 ‘sreTevdl Udl # arfoie Ssfiaw ofk el Y @ a1 Srgar SR saere iR AR off @ =
aread 8?2

Ans o A TAS URAIRE I SR Jfeariear # SiersT goim o
7< B. R AT SR Hipider URFRTY QR o |
X C. THTST H YRl ohl Hed fadT ST o1, Hidsar el f=idr =81 ot
25 D. 3T T & &I 78, e, T @ia & SR ol A faym w@d &

Question ID : 630680418784
Option 11D : 6306801633852
Option 2 ID : 6306801633854
Option 31D : 6306801633853
Option 4 1D : 6306801633851
Status : Not Answered
Chosen Option : --




Comprehension:

frafafea e @l eagdes ug ok U T ARSI

STTERdT &I | ArHTISIeh Siiae 3fR T<epfd el WY aTd ST3dT TR denter UR R off | T e, &, el
AT SR STIf & SR W At &1 S fégatt o amifeies sitae ot g fasivar off ffg ar aort &
Sifafeh s STfad 8 5 gg &1 sgqor & Aq<a # S=a Sifadl & 99 anfore ufasT ok fawfier
TR 379AT UhIAhR hiaH oh T AT Siasiiaid faargt it aamel ofY | srfaua fafaat & 3= sifaat & o
BIE STIerat & AT a1 Q3T W1 ol @I & | FgeT Sfadr gt ot &t (afRa st off | gaeme of sfa,
T, eheltet iR gof Y gf® T on fawTfora 78t &1 gTatior Sk enf & amTfores Tamar ot fAder feam o
STaTExdT T & 9RT H URAR <l e fUgeedraes off | Tufxt & ST Rth qoul ot gt firetdT 2
TR IR oh AR TG H URAR AU 7| AT JAT U] & &0 # S el 317ex fam S omigaf
SRR I=a I A g1 waferd oTl it anfeat uRar & ue aa a3 gewi | Sgliars & uee il
1-foraTg v AR 321 7 yaferd off | I ot # il iR R @At e SR gt & hl Ut Taferd ot
o1 <l 3 9t grTfores Gfaar off Tt ne ok faerarstt & @vre srawm It g A ufd i R =
farerar Sit @t off Fo1 T Smar o1 & feror uRa & ag vt vafed T8t o mRiet 7 off 3 Ferer A8l
fareran fare 3= sifaai & yaferd g 41 fhg TERTE & TR SITE0T SiTe 3R IR YR & UgTe! &3 &
STl & faerar gAfdare srhl vaferd o071 SR & o STafdg iR FR1sT SATUf tRYRM A1ss A fear
YAfaTE ol aIgTar &7 I STItheT IR |

SubQuestion No : 14
Q.14 erier & fog e ofife ghm-

Ans X A fUge<me a9t
2% B. @it Sfae &t et
X C. ST g SR feg et
o D. IS 3R Qikpfaen Sita=

Question ID : 630680418785
Option 11D : 6306801633857
Option 2 ID : 6306801633858
Option 31D : 6306801633856
Option 4 ID : 6306801633855
Status : Answered
Chosen Option: C




Comprehension:

fffea e @l eargdes ug Sk U W AR

STTERdT &I | ArHTISIeh Sfiae 3fR T<epld el WY ITd ST3dT TR depter TR MR off | R e, &, el
YT SR STIf & SR R At &1 s fgatt o amfies sitae ot g fasiar off ffg ar aort &
Sifafeh s STfad 8 5 gg &1 sgqor & Aqa # S=a Sfadl A 99 amnfore ufasT ok fawfder
TR 379 UhIAhR higH oh @ AT Siasiiaid faargt it aamet ofY | srfaua feafaat & 3= sifaat & o
BIE STIerat & AT a1 QST W1 ol W1 & | SgeT Sfaar gt ot &t (e st off | gaeme of sfa,
T, heltet afR gof Y gf® T ovw fawTfora 78 &1 gratior 3k et & amaTfores Tamar ar fAder feam o
STaTExdl T & 9RT H URAR < e fUgeedrae off | Tufxt & ST Rth qoul ot gt fivetdr 2
TR IR oh AR TG H URAR AU 7| AT JAT Ul & &0 # S} el $17ex fam S omivaf
SRR I=a I H g1 waferd oTl gt anfeat uRar & ue aa a3 gewi | gglaars el uee il
T1a-foraTg v AR 321 # yaferd off | I ot # il iR R @At e SR gt & hl Ut Taferd ot
o1 <l & It Tt gfaar off Telt ne SR faerarstt & @ve srawm It g A ufd i R =
farerar it &t off o1 o Strar an gfeor wrRa & ag v vaferd A8t ot aRrat 7 off 38 werar 8 A
faerar faarg S=a Sfaat & waferd 981 ol fohg A8RTE & R STEI0T STe $fR IR YR & Ugle! &5 &
STl & faerar gAfdarg srhl vaferd 2T SR & T STafdg iR FR1aT SATUf tRYRM A1ss A faear
YAfIATE ol SIgTaT 37 Al STItheT IR Y|

SubQuestion No : 15
Q.15 18 &t & urRarRers Sfta= i fa2tvar =i 8-

Ans X A TrOfRi A g Rth g ot fAerar o
o B. Txft ot i Fort & uaf v &1 gt o
X C. gt & sgfaarg o wae
75 D. uRaR o1 aRe q3w Tewr I8! T giar A1l

Question ID : 630680418787
Option 11D : 6306801633864
Option 2 1D : 6306801633865
Option 31D : 6306801633866
Option 4 1D : 6306801633863
Status : Answered
Chosen Option: D
Section : General English
Q.1 Select the grammatically correct sentence.
Ans X A. He has of the subject but talked the.most'at the meeting, only superficial
understanding without adding any value.
&" B. He has only superficial understanding of the subject but talked the most at the
meeting, without adding any value.
/X C. He most at the meeting, without adding any value has only superficial understanding
of the subject but talked the.
#< D. He has but talked the most at the meeting, only superficial understanding of the
subject without adding any value.
Question ID : 630680418797
Option 11D : 6306801633904
Option 2 1D : 6306801633903
Option 31D : 6306801633906
Option 4 1D : 6306801633905
Status : Not Answered
Chosen Option : --




Q.2 Select the most appropriate meaning of the given idiom.

Have a lot on your plate

Ans X A Have a lot of meetings with ministers
/X B. Have a large amount of food to eat
/X C. Have a lot of burden of the family on your shoulder

&" D. Have a large amount of important work to deal with

Question ID : 630680418795
Option 11D : 6306801633897
Option 2 1D : 6306801633895
Option 31D : 6306801633898
Option 4 ID : 6306801633896
Status : Answered
Chosen Option: C
Q.3 Select the option that has used the correct past tense.
Ans X A.llearn how to play the guitar two months ago.
&” B. | learned how to play the guitar two months ago.
75 C.llearning how to play the guitar two months ago.
Z5 D. | learns how to play the guitar two months ago.
Question ID : 630680418791
Option 11D : 6306801633880
Option 2 ID : 6306801633879
Option 3 ID : 6306801633881
Option 4 1D : 6306801633882
Status : Answered
Chosen Option : B
Q.4 Select the most appropriate synonym of the underlined word.
Rahul is fanatical about his beliefs, preaching to anyone who will listen.
Ans X A Unruly
& B. Bigoted
/< C. Domineering
< D. Imperious
Question ID : 630680418793
Option 11D : 6306801633890
Option 2 1D : 6306801633887
Option 31D : 6306801633888
Option 4 1D : 6306801633889
Status : Answered
Chosen Option: C




Q.5 Select the most appropriate verb to fill in the blank.

Ans

X A create
" B. created
< C. will create

/< D.was create

When he was just 15 years old, Kazumi Muraki a small, portable device to capture
carbon from the atmosphere.

Question ID : 630680418789
Option 11D : 6306801633871
Option 2 ID : 6306801633872
Option 3 1D : 6306801633874
Option 4 ID : 6306801633873
Status : Not Answered
Chosen Option : --
Q.6 Select the most appropriate adverb to fill in the blank.
He behaved very _____ in this dangerous situation.
Ans X A slowly
/< B. colder
o« C. coolly
75 D. coldest
Question ID : 630680418790
Option 11D : 6306801633876
Option 2 ID : 6306801633877
Option 31D : 6306801633875
Option 4 ID : 6306801633878
Status : Not Answered
Chosen Option : --
Q.7 Select the most appropriate phrase that can substitute the underlined segment in the given
sentence.
The party was scratching the barrel for competent politicians.
Ans X A. Sieving the barrel
Z5 B. Searching the barrel
#< C. Spying the barrel
& D. Scraping the barrel
Question ID : 630680418794
Option 11D : 6306801633894
Option 2 ID : 6306801633892
Option 31D : 6306801633893
Option 4 1D : 6306801633891
Status : Not Answered

Chosen Option :




Q.8 Select the option that has used the correct present perfect continuous tense.
Ans X A. Thank you so much for the binoculars. I've been wanted a pair for ages.
#< B. Thank you so much for the binoculars. I've been wants a pair for ages.
75 C. Thank you so much for the binoculars. I've been want a pair for ages.

« D. Thank you so much for the binoculars. I've been wanting a pair for ages.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

630680418792
6306801633886
6306801633885
6306801633884
6306801633883
Not Answered

Q.9 Select the most appropriate option to complete the given phrase correctly. (Hint:
Substituting the words in the brackets will give you the answer.)

Giving Kohli a bat on his birthday is like carrying (diamonds to Newcastle).

Ans o A coals to Newcastle
#< B. gold to Newcastle
< C.wood to Newcastle

/5 D. pearls to Newcastle

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418796
6306801633902
6306801633901
6306801633899
6306801633900
Not Answered

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

a. Now, a growing number of psychologists, educators and parents think it's time to stop the
madness and start teaching kids about what's really important: values like hard work,
contentment, honesty and compassion.

b. As a result, they find themselves raising ‘children’ who respond greedily to the
advertisements aimed right at them.

c.Too many parents these days can't say no.

d.Even getting what they want doesn't satisfy some kids; they only want more.

Ans X A abcd
" B.cbda
X C.dach
X D.bcad

Question ID

Option 11D

Option 2 ID

Option 31D

Option 4 1D

Status

Chosen Option :

: 630680418798
: 6306801633908
: 6306801633907
: 6306801633910
: 6306801633909
: Answered

D




Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, as muscle tension in various
parts of the body, palpitation and high blood pressure, indigestion and hyperacidity. Ultimately
the result is self-destructive behaviour such as eating and drinking too much, smoking
excessively, relying on tranquilisers. There are other signs of stress such as trembling,
shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

SubQuestion No : 11

Q.11 Identify the structure of the given passage.

Ans

" A. Cause/effect

< B. Time order/chronology
/X C. Sequence/process

#< D. Proposition/support

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418802
6306801633922
6306801633920
6306801633919
6306801633921
Not Answered




Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, as muscle tension in various
parts of the body, palpitation and high blood pressure, indigestion and hyperacidity. Ultimately
the result is self-destructive behaviour such as eating and drinking too much, smoking
excessively, relying on tranquilisers. There are other signs of stress such as trembling,
shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

SubQuestion No : 12

Q.12 Identify the inference drawn from the passage.

Ans

/5 A. Stress can be avoided.
X B. We all need to take stress.
o” C. Stress is harmful.

#5 D. Alot of stress is helpful for our growth.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418803
6306801633925
6306801633924
6306801633923
6306801633926
Not Answered




Q.13

Ans

Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, as muscle tension in various
parts of the body, palpitation and high blood pressure, indigestion and hyperacidity. Ultimately
the result is self-destructive behaviour such as eating and drinking too much, smoking
excessively, relying on tranquilisers. There are other signs of stress such as trembling,
shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

SubQuestion No : 13
With reference to the passage, which of the following options is the most appropriate
synonym of the underlined word?

There are other signs of stress such as trembling, shaking, nervous blinking, dryness of
throat and mouth and difficulty in swallowing.

" A. Quivering
/< B. Stability
75 C. Steadiness
75 D. Stillness
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418804
6306801633927
6306801633929
6306801633928
6306801633930
Answered

B




Q.14
Ans

Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, as muscle tension in various
parts of the body, palpitation and high blood pressure, indigestion and hyperacidity. Ultimately
the result is self-destructive behaviour such as eating and drinking too much, smoking
excessively, relying on tranquilisers. There are other signs of stress such as trembling,
shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

SubQuestion No : 14
Which of the following sentences is INCORRECT as per the passage?

/5 A. Stress has a different meaning, depending on the stage of life you are in.

/X B. Itis important that you recognise the signs of stress in your behaviour and be healthy
enough to enjoy your success.

/X C. Signs of stress include trembling, shaking, nervous blinkingsdryness of throat and
mouth and difficulty in swallowing.

&" D. While a certain amount of pressure is unnecessary for perfortnance, it is important
not to be able to recognise your individual limit.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418801
6306801633917
6306801633915
6306801633918
6306801633916
Answered

A




Comprehension:
Read the given passage and answer the questions that follow.

While there is no denying that the world loves a winner, it is important that you recognise the
signs of stress in your behaviour and be healthy enough to enjoy your success. Stress can
strike anytime, in a fashion that may leave you unaware of its presence in your life. While a
certain amount of pressure is necessary for performance, it is important to be able to
recognise your individual limit. For instance, there are some individuals who accept
competition in a healthy fashion. There are others who collapse into weeping wrecks before
an exam or on comparing mark sheets and finding that their friend has scored better.

Stress is a body reaction to any demands or changes in its internal and external environment.
Whenever there is a change in the external environment such as temperature, pollutants,
humidity and working conditions, it leads to stress. In these days of competition when a
person makes up his mind to surpass what has been achieved by others, leading to an
imbalance between demands and resources, it causes psycho-social stress. It is a part and
parcel of everyday life.

Stress has a different meaning, depending on the stage of life you are in. The loss of a toy or
a reprimand from the parents might create a stress shock in a child. An adolescent who fails
in the examination may feel as if everything has been lost and life has no further meaning. In
an adult the loss of his or her companion, job or professional failure may appear as if there is
nothing more to be achieved.

Such signs appear in the attitude and behaviour of the individual, as muscle tension in various
parts of the body, palpitation and high blood pressure, indigestion and hyperacidity. Ultimately
the result is self-destructive behaviour such as eating and drinking too much, smoking
excessively, relying on tranquilisers. There are other signs of stress such as trembling,
shaking, nervous blinking, dryness of throat and mouth and difficulty in swallowing.

SubQuestion No : 15

Q.15 Select the most appropriate title for the given passage.

Ans

«* A. Stress

/X B. Exercise

X C. Coping with Life
Z5 D. Part of Life

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418800
6306801633912
6306801633911
6306801633914
6306801633913
Answered

A

Q1 argaft Ak Reel F 9ol % Fner = T R w9 7 e G

Ans

Srar 372

Q,?A.aqﬁ-D
XB g C
Xc @ B
X0 Far A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418818
6306801633986
6306801633985
6306801633984
6306801633983
Answered

D




Q2 gfEw o (service line) F wiaad fega T & agd & BT Mawes o=

(overhead lines) & fFg S 7 39T R Smar €2
A o Rrerfaar & S (Britannia tee joint)

X 5. JES Ffedet NS (Western union joint)

x c. ANz A=z (Married joint)
X 0. =1 ¢ AE (Pig tail joint)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418822
6306801634001
6306801634002
6306801634000
6306801633999
Answered

B

3 Grafafea & ¥ 5w Tl & 3w gfEEe Faa FE § aoq G @it

(hot pouring compound) F & # far ST &2

XA T g e AR
X B. OTelTCHATE S T
X ¢ guw o Ot
wo.ﬁgﬁ?ﬁ':ﬁﬁ‘lﬁ?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680418845
6306801634093
6306801634091
6306801634092
6306801634094
Answered

c




Q4 & a% gl F e v aRey F Bw B a #@R b F &9 Jow o
(equivalent capacitance) T IT0TAT |

a

T 25F 25F

Cab
l c1 c2
b
Ans XA 125 F
X8 75 F
XCc 100 F
«D B0 F
Question ID : 630680418920
Option 1 ID : 6306801634392
Option 2 ID : 6306801634393
Option 3 1D : 6306801634394
Option 4 ID : 6306801634391
Status : Answered
Chosen Option : A
Q5 oo Fr wem & BT A F 37 3RS hp F IFweA TrEHT HB3EgE 21 hp
g1 9 Fr ZeTar 70% § 3T AT Hr garar 90% 2
Ans @~ 35 hp
x5 50 hp
xc 20 hp
x 0. 45 hp
Question ID : 630680418919
Option 1 ID : 6306801634388
Option 2 ID : 6306801634390
Option 31D : 6306801634389
Option 4 ID : 6306801634387
Status : Answered
Chosen Option: B




¥ geamafy & fhw TR & gUiE o #F wERE g7 e §7

Ans

X A REhar SRR TR
X B. ﬁT-a?l?@-Ts'Bﬁ' g TFR
X C. el 9T

o D. &ﬁ;ﬁ?—ﬁ' ‘%JJE' Ecars

Question ID : 630680418876
Option 1 ID : 6306801634216
Option 2 ID : 6306801634215
Option 31D : 6306801634218
Option 4 ID : 6306801634217
Status : Answered
Chosen Option : A
Q7 afafla F ¥ B 39T &7 39U Fhe S T R S F S Fa H
o fomar Smar 22
Ans X A 91T (Spanner)
X & HIT (Mallet)
xc a@sﬁ'ﬂ' ToE (Combination pliers)
« D el TolefT &I (Rawl plug jumper)
Question ID : 630680418816
Option 11D : 6306801633978
Option 2 ID : 6306801633976
Option 31D : 6306801633975
Option 4 ID : 6306801633977
Status : Answered
Chosen Option: D
Q8 100 Hz Fr gerge smgfea 3t 1.5 el 3w & anfar foena arer v AC 9wy
F arfyar &1 9w i
Ans
XA 1.061 ATSH F
X8 2381 ATS F
xXc 2381 F
»0 1061 F
Question ID : 630680418837
Option 1 ID : 6306801634060
Option 2 ID : 6306801634062
Option 3 ID : 6306801634059
Option 41D : 6306801634061
Status : Answered
Chosen Option: C




e & arfes [
Ans o A

Q9 ot grEwERt ¥ v deer (iR - R ERETE) Feee B auiRE &

3-%5<T 4 O TIcRor JUmelr &F Giaursis s=1ar ST e
X B HETAIZT FH & T T

X ¢ Higams o U= 51 T

X 0. ST R gt & gfd & 5T '

Question ID :
Option 11D :
Option 21D :
Option3 1D :
Option 41D :
Status :

Chosen Option :

630680418854
6306801634128
6306801634129
6306801634130
6306801634127
Answered

A

Q10 0.8 pf T F=IferT 3-5w, 3weT AT AT TR WU F I egT-aF
(power) Fr AT F TuTE F| o=T Aees 3T 9IT FAA: 440 Trec IR

10 A &I
Ans X A BOO W
X B 800 W
xXcC 8 kW
D 6 kW
Question ID : 630680418847
Option 1 ID : 6306801634099
Option 2 ID : 6306801634102
Option 31D : 6306801634100
Option 4 ID : 6306801634101
Status : Answered
Chosen Option: C
Q.11 N
=T § O FiF 31 BeeT J=9ig Fad F1 3580 27
Ans
X A HIETES heel
X B geIcE hael
X C. IR sheyel
¢ 0 H-9& T e
Question ID : 630680418835
Option 1 ID : 6306801634054
Option 2 ID : 6306801634052
Option 31D : 6306801634053
Option 4 ID : 6306801634051
Status : Answered
Chosen Option: C




Q12 o 25 kVA, Teher-theT JEWIAT # Fruffe IR F 250 %Y 3 R

arsfEer # 40 Y &1 wrufdw 1500 V, 50 Hz & 37 81 T07 o8 X gRdEes o

F IR FX
Ans XA B5 A
X8 16 A
Xc5A
D 104.2 A

Question ID : 630680418852
Option 11D : 6306801634121
Option 2 ID : 6306801634119
Option 31D : 6306801634122
Option 4 ID : 6306801634120
Status : Answered
Chosen Option: C

3 oofafEg § @ Fi9 o1 B gegeRIToih HIT HT HIAET dqer g7

XA TR diE Ee
X b. QAT TUTH FUR

X C Freee [AfETEa
¥ D FHYUT AT

Question ID : 630680418880
Option 11D : 6306801634232
Option 2 ID : 6306801634231
Option 31D : 6306801634233
Option 4 ID : 6306801634234
Status : Answered
Chosen Option : A




V1 & o g #F gl v I H ggE W

| ¢ | T & arr dogest
|1

N el

=

‘l
o ol
I |

m

i___

F
|
L

£

i
T ==

Ans KA%F‘J?}QIFW
v & graf¥ET s
X ¢ whAfes srEme
X D. AHTIE Tl

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

: 630680418894

: 6306801634289
: 6306801634288
Option 31D :
: 6306801634287
. Answered
Chosen Option :

6306801634290

Q15 gfr 200 & ATl Fuser F v AMETR ORT FaIRA @ W &, O TaweT @S

T (magneto motive force) fraam 2T &2
A XA 150 ofETmT T

X B 100 ¥fPTIX ==

¥ C 200 efRTE ==

XD 50 ¥fEqET ==

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418923
6306801634405
6306801634404
6306801634406
6306801634403
Answered

Cc




Q16 Coafaf@g § ¥ 9 o7 AFRTEwaET F1 J9RT (disadvantage) &7
K gr JERE grEweRt Fr g F Tu F ol

X8 dreesr AeTET @Ue §

X ¢ fAe=T gafar

« D.
srufie 3 gfdas 9oy & 9 S eETe A8 AT §

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 ID :
Status :

Chosen Option :

630680418856
6306801634135
6306801634136
6306801634138
6306801634137
Answered

c

Q.17 & 75 AP H 22T ¢ Tl H Ig=T

&

Ans WA-S:ﬁtL
X B gIAEE el

X o T bt
X D. §3T

Status

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
: Answered
Chosen Option :

630680418885

6306801634253
6306801634254
6306801634251
6306801634252




U gemataE F seHeE IEfE e oyg adr 2
M KA ymhR Tt &

Xe ger &

X o Teréy #F

v0 fres 9T FXH

Question ID : 630680418874
Option 11D : 6306801634210
Option 2 ID : 6306801634208
Option 31D : 6306801634207
Option 4 ID : 6306801634209
Status : Answered

Chosen Option : B
Q19 fyega e ST (electromagnetic induction) BEF % F#R & fror #, Rer #r
T FaT #r AT BT 1 gwar B
Ans  F A
o9 oars, Swe Arenw ¥ B o a1 g, o seaeT
X B el T SUGTUTIS &l SColehd
X CT & 5&a1 # giE i
X 0. PT & §&IT # gig &
Question ID : 630680418915
Option 11D : 6306801634372
Option 21D : 6306801634371
Option 31D : 6306801634373
Option 4 ID : 6306801634374
Status : Answered
Chosen Option: B
Q.20 ) %
F= AT (Zener diode) H HIAT AT el g
Ans # i
XA aga:ﬁ? (multivibrator)
v & drees f@amdeE (voltage regulator)
xc e (oscillator)
X 0. gaeieR (amplifier)
Question ID : 630680418937
Option 11D : 6306801634461
Option 21D : 6306801634462
Option 31D : 6306801634460
Option 41D : 6306801634459
Status : Answered
Chosen Option: C




Q21 & a1 smpfer & gefie a7v 9fwyr & 200 W/250 V 3T 100 W/250 V R & o

omidrer €, S 240 V AC 3mafet # Aoft wH F 3 gu E1 IR9y ¥ dey

@ & ¥ #iF O 39 TT 22

200W/250V 100W/250V
Ph o——-@ D-—Q ﬂ D—
240V AC
NO
Ans  F A

100 W =7 379 200 W & 3= ¥ 39 = IHFaT &

X B.

200 W &7 239 & 3@ & T 3% o= 98ear § 3R 100 W 7 a5 A

Y F B 310 I 99T B
X C.

200 W & &7 100 W F 377 ¥ 3% o= IHaT ¢l

% D.

100 W &7 3T 31T 200 W &7 o7 OF 988 & O1Y 95760 21

Question ID :

Option 11D
Option 2 ID

Option 4 ID

Chosen Option

630680418902

: 6306801634319
: 6306801634322
Option 31D :

6306801634320

: 6306801634321
Status :
:C

Answered

Q22 1000 Hz #r 3gfes W FoIfed 40-mH Fseir #1 SR Fiawra Fuifa #1)

Ans XA 1256 3F
X8 125.6 fFar 3=
vC 2512 3H
X0 2512 e 30H

Question ID :

Option 11D
Option 2 ID

Option 4 ID

630680418836

: 6306801634058
: 6306801634056
Option 31D :

6306801634055

: 6306801634057
Status :
Chosen Option :

Answered
B




028 Rl & ¥ Fi9-07 91 soeg=® 2a1sH (power electronic devices),

Zfafefre g=ra= (bidirectional conducting) &THaT 9Sf¥iT ar 32

Ans ek (TRIAC)
X B. &I=<r (BJT)
X ¢ THHEIFET (SCR)
X 0. gTa1s (Diode)
Question ID : 630680418939
Option 11D : 6306801634467
Option 2 ID : 6306801634468
Option 3 ID : 6306801634469
Option 4 ID : 6306801634470
Status : Answered
Chosen Option: D
Q.24 .
JeaFIions Ay # faedor semeet @ Far w72
Ans  F A
ftrean FoTgur St Jedwecd 1 TR B e Ay g Tefaa G e
THaT
£
X B SFA % AT FATLOr
X C.
oueecd WA & a8 Al ZaN etaa B5ar o1 wee arer afsan serngot
X D.
A ganr Fwfaa Far ST wa Jrer 798 FH T
Question ID : 630680418879
Option 11D : 6306801634228
Option 2 ID : 6306801634229
Option 3 ID : 6306801634230
Option 4 ID : 6306801634227
Status : Answered
Chosen Option: C




Q25 fFrramsr v F A TT F THY 3T FT F AT BFE gEr & 9T G

T 82
A v St TR
X & iy Bfeese
X S afeee
X o Fefmw fafesse
Question ID : 630680418903
Option 11D : 6306801634323
Option 21D : 6306801634326
Option 31D : 6306801634325
Option 4 ID : 6306801634324
Status : Answered
Chosen Option: D
Q26 oAt DC et F ¥ frasd 4ot 3k oe aEfEer g e &7
Ans KA ot mefre
X B 2ol 7
v ¢ FgeFd E-ElIr
X0 qUF ¥ ¥ Iedtad AA
Question ID : 630680418808
Option 1 ID : 6306801633943
Option 2 ID : 6306801633944
Option 31D : 6306801633945
Option 4 ID : 6306801633946
Status : Answered
Chosen Option: B
Q27 oafafaa & @ 8 R (relay) F gorenT 3@, a9 A ¥ 9RHA0T ¥ TS
g 22
Ans X A
3cafeF sohA 3@ e (Extremely inverse time relay)
X 6. oA HIY [T (Inverse time relay)
X ¢ 3EHTRE e (IDMT relay)
v 0. AaT 3afr Ner (Definite time relay)
Question ID : 630680418912
Option 11D : 6306801634362
Option 2 ID : 6306801634360
Option 3 ID : 6306801634361
Option 4 ID : 6306801634359
Status : Not Answered

Chosen Option :




Q.28 & IOT-TRIY (pure inductive circuit) F TIT F TS ofFa g g

Ans

X a HTf Feear & AT F ITHATGA
X 5. 9ehed (inductance) & AT & HelshATd
vo AT

X 0. IS Hgfea & gemATTITd)

Question ID : 630680418926
Option 11D : 6306801634417
Option 2 ID : 6306801634416
Option 31D : 6306801634415
Option 4 ID : 6306801634418
Status : Answered
Chosen Option : B
Q29w wieR (F) & 7% Al # R@e 3ger 9 & &7 9fFaat (RLR,R; ) &
mmmrmﬁ:@g}n%l I U= Ufed & oRT 200 mA g, 3
T T URT-TEA-8THAT (current carrying capacity) foraer 2T mfge?
F
52 L R1
55 F S3 R
L o R g €
L 2 - VA
<
M o
Ans XA 300 mA
< B. 500 mA
X C. 200 mA
+ D 600 mA
Question ID : 630680418905
Option 11D : 6306801634332
Option 21D : 6306801634333
Option 31D : 6306801634334
Option 41D : 6306801634331
Status : Not Answered
Chosen Option : --




Q30 ve ZifSrEex, FAT TH-FT (common base connection) # ST 81 3

YR (emitter current) 1 mA § 3T TamEs a7 (collector current) 0.95 mA #|
HTR o7 (base current) T A fFaar 72

Ars XA 1.5 mA

X<B.1.95 mA

+C 0.05 mA

XD 0.5 mA
Question ID : 630680418940
Option 1 ID : 6306801634473
Option 2 ID : 6306801634474
Option 31D : 6306801634472
Option 4 ID : 6306801634471

Status : Answered
Chosen Option: C

! EfafRE § ¥ FF O e e 9w g 2

A
ns XA FTIETW
X B. TogHIIOH
L2
v O FHfEE
X D. STeREr
Question ID : 630680418823
Option 11D : 6306801634004
Option 21D : 6306801634006
Option 31D : 6306801634003
Option 41D : 6306801634005
Status : Answered
Chosen Option: C

Q32 RFH At (squirrel cage motors) & STF e WX HT ITART F & 4T
T B2

v A 9ace TATEUT sl SeIdT g

X b TSI LAl & HH HIT §

Ans

X C FeT IT TATCT T &

X 0. TEEY T P HGWTFHAT AET g §

Question ID :
Option 11D :
Option 21D :
Option 31D :

630680418864
6306801634167
6306801634168
6306801634169
Option 4 1D : 6306801634170
Status : Answered
Chosen Option : A




Q33 zroerw e TR (stepless fan regulator) F I9ANT AT A AT AT FAIFEH

Ans

f&ar=d (power electric devices) HiT & &7
X A |GBT 3t MOSFET

v & TRAIC 3T DIAC

X ¢ BJT 3fiT FET

X0 SCR 3Rk GTO

Question ID : 630680418951
Option 11D : 6306801634517
Option 2 1D : 6306801634515
Option 31D : 6306801634516
Option 4 ID : 6306801634518
Status : Answered
Chosen Option: D
Q34 10 3 WU gfoma 3R 2 A\ SR I v RO FIAr Fr afaer
AT HIfAT]
e XA 532 3H
XB 831 A
V01019 3H
XD 1222 A
Question ID : 630680418838
Option 1 ID : 6306801634065
Option 2 ID : 6306801634064
Option 31D : 6306801634066
Option 4 ID : 6306801634063
Status : Answered
Chosen Option: D
Q35 1000 W, 230 V 23 fAHAeee d9F (SR &eX) @ 30 fAwe g% sTaeT e
I R Ba fagga =i F A i w1
Ans X A 50 kWh
< 8. 500 kWh
+C 0.5 kWh
XD 5 kWh
Question ID : 630680418828
Option 11D : 6306801634024
Option 2 ID : 6306801634026
Option 3 1D : 6306801634025
Option 4 ID : 6306801634023
Status : Answered
Chosen Option: B




Q36 g gemet wHR H WEdE TS H, FAT F R Aperer Ty TR H oW

ST FohcteAT gl 22

XA 20% & 30%
V8 0% & 10%
XC 40% T 50%
XD 50% & 60%

Ans

Question ID : 630680418901
Option 11D : 6306801634317
Option 2 ID : 6306801634318
Option 31D : 6306801634316
Option 4 ID : 6306801634315
Status : Answered
Chosen Option: C
Q37w 25 KVA, 2000/200 3T, Tehe-he TABIER H wig 3R qUT o A At
FAT 350 W X 450 W g1 371 J0T &5 Tohep UIfehd JUT& R Wig gTier @r
Cirer eyl
ans XA 175 W
X8 100 W
Xc 875 W
« D 350 W
Question ID : 630680418840
Option 1 ID : 6306801634072
Option 2 ID : 6306801634074
Option 31D : 6306801634073
Option 4 ID : 6306801634071
Status : Not Answered
Chosen Option : --
Q38 o FemURT (FfATEe) A F U F R F FEF @R sewEa R o
T 87
Ans o
XA Breg FEfEe & fagd iy @
X 8. $reg AR JFR TERET S F FHAT ax
v C Bieg FBET & IchAU ARl
X 0. HfT TTHART & 3HAT ZER
Question ID : 630680418839
Option 11D : 6306801634067
Option 2 ID : 6306801634070
Option 31D : 6306801634069
Option 4 1D : 6306801634068
Status : Not Answered

Chosen Option :




Q39 |E st % AR #ex @S AR FEw fRaw & @ w S W) e s Ee
M XA A TR A 05 m

veE A TR E 15 m
XcHATRA3I m
X0 A TR T 25 m

Question ID : 630680418888
Option 1 ID : 6306801634264
Option 2 ID : 6306801634263
Option 31D : 6306801634266
Option 4 ID : 6306801634265
Status : Answered
Chosen Option : D
Q40 240 v #r I ITvT T T AT GIRT TIS N F INFeT FL AT g@R
FT arr 0.5 A ¥
Ans XA 480 W
X B 120 kW
+C 120 W
A D 480 kW
Question ID : 630680418827
Option 11D : 6306801634019
Option 2 ID : 6306801634021
Option 31D : 6306801634022
Option 4 ID : 6306801634020
Status : Answered
Chosen Option : A
s Hﬁl\?ﬁr I (indicating instrument) & 3@HeT El?vlTE‘;Uﬁ' (Damping torque) gHem
g
Ans o A
AT fAFT (moving system) 1 o1fy & fBada fear &
X &. {3z F@mgoT (controlling torque) & 8 feem &
X c. fT=e Famgor (controlling torque) & faoda
X o. faetoe samepT (deflecting torque) & el
Question ID : 630680418952
Option 11D : 6306801634522
Option 2 ID : 6306801634520
Option 3 ID : 6306801634521
Option 4 ID : 6306801634519

Status : Answered

Chosen Option :

c




Q42 eromaT & gHest el (Buchholz relay) Fgl T fFar smar 22

e XA Fader T F A
Vo AP AF &F IR Fee F F AT H
X o gEGER A &w AR gt F d= A
xo.g@ﬁﬁ#ﬂ@ﬁ%ﬁﬂ?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
Chosen Option :

Status

630680418850

6306801634112
6306801634113
6306801634114
6306801634111

D

B & g sty # g T vl a7 B

Ans

v A T Sig I

X B TS FIem TF

x o fesedt gFa = FIelr o
x 0. fagga aifas Faeee a9

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418882
6306801634240
6306801634239
6306801634242
6306801634241
Answered

Cc




Q44 ot fararer ofveror S TET, ofE TR fEae ¥ v Twden Tl e

XA Eregot genf
x 5. g wuRT
v ¢ Fraehe guls
X 0. gEer TR

b &7

Question ID : 630680418869
Option 11D : 6306801634190
Option 2 ID : 6306801634188
Option 31D : 6306801634187
Option 41D : 6306801634189
Status : Answered
Chosen Option: C

Q.45 Zfr gfaRrer 500 ohm &, a7 0.5 A $T 91T T8 = W 250 V BT THe

Ans

aIéred ¥ (single incandescent lamp) ZaRT HE Rega-afaFa Hr aoEr Fi

XA 100 W
X8 500 W
Xc 250 W
¥D 126 W

Question ID : 630680418927
Option 11D : 6306801634420
Option 2 ID : 6306801634419
Option 31D : 6306801634421
Option 4 ID : 6306801634422
Status : Answered
Chosen Option: B




Q46 g Fer Fr FTe-geT FETAT (watt-hour efficiency) TET T 39ART #&
TfETIR-EeT gaTaT § 9o HT AT TR g
Ans o A

UfR9IY — HeT g8TaT X e WY sftaa aee
HEA 9T JEa I

T — TETSET =

X B.
T W AtEa aee

e~ HCTEHT = STt SAa e x TR — HeT gt

X c
e, i foaed W g aee

R = HSH W A aiee x TfEgaT — gergeTdr
X D.

TTP9aY — HeT Z&TaT X ¥ 9T 3iaaaee
IGRERGRCE I L =

aIC — T S&Tdr =

Question ID : 630680418944
Option 11D : 6306801634487
Option 2 ID : 6306801634490
Option 31D : 6306801634489
Option 4 ID : 6306801634488
Status : Not Answered
Chosen Option : --

W CafafEe § ¥ Fie W Rasw e o o W e w2
Ans & A SOT AT (Induction motor)

x . g $&T (Electric iron)

X ¢ gradred S FT (Incandescent lamp)

X 0. H=SA a9 (Immersion heater)

Question ID : 630680418841
Option 11D : 6306801634076
Option 2 ID : 6306801634077
Option 31D : 6306801634075
Option 4 ID : 6306801634078
Status : Answered
Chosen Option: B




Q48 50 Hz #r amgfeT o 6 ¢t aTer AC 3% ROT AR F ot JeH & Fr afy

foraer 7
Ans X A 2000 rpm
x 8. 500 rpm
¢ 1000 rpm
x 0. 3000 rpm
Question ID : 630680418866
Option 11D : 6306801634177
Option 21D : 6306801634178
Option 31D : 6306801634176
Option 41D : 6306801634175
Status : Answered
Chosen Option: D
Q4w gor R Secer TUTET H, [T Sede HERER TR FE BT g 27
Ans
X A TEET (stator)
X 8. FFIEET (commutator)
X c ga YA (pole shoes)
v 0. gue (rotor)
Question ID : 630680418878
Option 11D : 6306801634223
Option 21D : 6306801634226
Option 31D : 6306801634225
Option 41D : 6306801634224
Status : Answered
Chosen Option: C
Q50 Srafafte F ¥ #ia-ar afa-fre=or 3% (speed control method), fEFatar &=
$s% AT (squirrel cage induction motor) % T @] FEr EAT 82
Ans .
X A GTFT Hfed Hl Teeleh INd fFF=0r
v 5 JeT RafTee (rotor rheostat) Zarr aifa fag=or
X C. grer @ AT ScoreR g AT
X 0. JIFT A F FgaART T fog=or
Question ID : 630680418953
Option 1 ID : 6306801634524
Option 2 ID : 6306801634526
Option 3 ID : 6306801634525
Option 4 ID : 6306801634523
Status : Answered
Chosen Option: B




Q5 SR & o gt Waf=T (synchronous condenser) gl el &2

Ans X A
T SIS &% T80 T W UF 74T ScaiAd gedenlions Al
X B.
ez aifa & A= gftg @ arer v Jeueiioe Al
X C.
f F
T oI § FR GO g AT U Jodedliod e
« D.
UFT-ANE F AGT T AT T AT Seddtoid Jedelions Al
Question ID : 630680418843
Option 1.1D : 6306801634083
Option 2 ID : 6306801634086
Option 3 ID : 6306801634085
Option 41D : 6306801634084
Status : Answered
Chosen Option: D
Q52 pc mef=t & RFaRaa® @S (commutator segments) ¥ e AT o
TR dasad
Ans
v A BT FNT aH
X B oIREI
X c. faftera g
XD &8
Question ID : 630680418805
Option 11D : 6306801633934
Option 2 ID : 6306801633932
Option 31D : 6306801633933
Option 4 ID : 6306801633931
Status : Not Answered

Chosen Option :




U533 W v A7 RLC 9wy &, iwer #7 3 wfaud e g 22

s XA am
7B 200 A
vC 0 A
<0100 HH
Question ID : 630680418842
Option 11D : 6306801634079
Option 21D : 6306801634082
Option 31D : 6306801634081
Option 41D : 6306801634080
Status : Answered
Chosen Option: C
Q.54 ¢
Far #er &7 fawaor 3T Fr a4 FROT Far g2
Ans
v A oyor % fae #ig-arfagfa
x e Mew F e Fe-afaa
% c. g¥or % forw Ses-arfagfa
x o Mem & o wfF-afagfa
Question ID : 630680418884
Option 11D : 6306801634248
Option 2 ID : 6306801634249
Option 31D : 6306801634247
Option 41D : 6306801634250
Status : Answered
Chosen Option : A
Q55 -t dI= RC 99 & 160 ohm T gieRy 3K 400 ohm $r wigamen
(impedance) g1 9ftaer &1 wfed ot #ar 22
Ans x A DB
V5 0.4
<cC 1
XD 25
Question ID : 630680418931
Option 11D : 6306801634438
Option 2 ID : 6306801634435
Option 31D : 6306801634436
Option 4 ID : 6306801634437
Status : Answered
Chosen Option: D




Q.56 vz ferer LED &7 36 V #r 3fd & Ser ST ¥ LED ¥ AT Fuew F R

Aot 7 F FE I T FG0T F AT AT Fil LED & 3 Siecdr I T 2
V 3T LED ¥ 8T aTied arT & 20 mA A o

Ans @ A 1700 ohm
< B. 1800 ohm
< ¢ 1300 ohm
A D. 1500 ohm
Question ID : 630680418908
Option 11D : 6306801634345
Option 2 ID : 6306801634343
Option 31D : 6306801634346
Option 4 ID : 6306801634344
Status : Answered
Chosen Option: B
Q57 3y fgmamar T 10 V §<fr T v GR9y 2-ohm WA ¥ ET § 9wy 7
garfed 9T | T AT #7187
T
g 2 0hm
10V é
Ans XA 20 A
X8 20 mA
Xc 5 mA
«D K A
Question ID : 630680418825
Option 11D : 6306801634011
Option 2 ID : 6306801634014
Option 31D : 6306801634012
Option 4 ID : 6306801634013
Status : Answered
Chosen Option: D




¥ #E AC R, i@ DC S & 5= e §, A
Ans o A

XE AT T W FHA FHET
X c. ater eafer gam

X 0. A UNT FET HET AT gEeT B # e g@en

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680418896
6306801634297
6306801634298
6306801634296
6306801634295
Answered

A

09 sy A odE, R e AT @ s @t

Ans

v A oI FTSF TeT (Rheostatic starter)

X B. HTET-ZTTHBIAY T (Auto-transformer starter)
X ¢ TER/FTET T (Star/delta starter)

X 0. Er3fiver TE1eT (DOL starter)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418862
6306801634159
6306801634160
6306801634162
6306801634161
Answered

B




Q.60 aﬁqﬁﬁﬁaﬁgmwﬁﬁmﬂmAcqﬁwﬁsﬁTgﬂmwowﬁ
A Rergmar 31 Sw F @y AT FH A I g A 2 A T w=ar B @

F wfater = reiRor #:11
Ans XA 200 ohm
X B. 50 ohm
< C 100 ohm
« 0. 25 ohm
Question ID : 630680418929
Option 11D : 6306801634430
Option 2 ID : 6306801634427
Option 31D : 6306801634429
Option 4 ID : 6306801634428
Status : Answered
Chosen Option : A
.61 S :
G Fr R@e av oty & SeeArdt (Seede) $r HfEew Far &7
20 ohm 40 ohm
NN AN N
100V
T
Frehe I (faga o)
PAVA VAN
20 ochm
Pt
- +
Ans XA oV
X8 40 V
¢ C 100 V
XD 60V
Question ID : 630680418833
Option 11D : 6306801634043
Option 2 ID : 6306801634044
Option 3 ID : 6306801634045
Option 4 ID : 6306801634046
Status : Answered
Chosen Option: D




Q62 ST & ¥ g TrafiET Yumer &7 S Fe TeY o6 2iaT §7

e XK oa fEE s FRET
X B FreE e
v ¢ urg Aferewr arafeT

X 0. et (PVC) afee amaier

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418893
6306801634283
6306801634284
6306801634286
6306801634285
Answered

D

Q63 gfr o= AR (food mixer) el T & 7T ¥ ToraT ¥ O IWH T FemviEa

A XA gUTF (Rotor), T (stator) & Freg faremsor

v o HIRIE & & STl g5 89 agfe (field winding)

X c. fAFmT $r 3t AU (Time rating) IR & 718 &

X 0. 19 (Pitting) T 3HATA feaaiEas Ha8

Question ID
Option 11D
Option 2 1D

Option 4 1D
Status

1630680418918

: 6306801634386
: 6306801634383
Option 31D :

6306801634385

: 6306801634384
: Answered
Chosen Option :

D




Q64 o & TEw F HFER A9F Fe= (AT veiiE) ZART 39 FSAT H Y aunr
F F I FT §, IR R dcF F ohm & 9fawer &, | BT & wyarfed amr &,

t I35 & gay g, 3 j 3var = ol W (mechanical equivalent) g2

Ans IZR
vhr H= — &

]

X6 H= "2 Sy

t

xc H= 2R $5rh
t
xo H= IR 33

]

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418917
6306801634379
6306801634382
6306801634380
6306801634381
Not Answered

¥ giffere Fael F FEIGR TS FaATA HT FAT 32T @T 87

A v h Few B O &Y § FTET
X b GUEEgT BH N FH HAT
X c. &ROT 9T @ afaqfd wr
X D ITedl FATS T FH FLAT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418834
6306801634049
6306801634047
6306801634050
6306801634048
Not Answered




Q66 Zr o pfay F Remw T ARy F BT F 97T I F BT = 4w {2

I XL
G ., S

Ic Xc
| |

Ir &
’ PAVAVAN

vt

O T AT ——» O

Ans

XAH=Jm—hF—%

XB I = J[IC+IL]2 + 13

xo&=Jm+hF—%

wnh=jm—hﬁ+@

Question ID : 630680418932
Option 1 ID : 6306801634441
Option 2 ID : 6306801634440
Option 3 ID : 6306801634442
Option 4 ID : 6306801634439
Status : Not Answered
Chosen Option : --
Q.67  y=grder (overcharging) 3 fAREe (discharging) & &RUT Ael & SoaIsS dehed
_ wgdnar gl
Ans .

X A gT& gewere (hard sulphation)

X B. @cd ¥ (hot spots)

v ¢ 3= (buckling)

X 0. FuTATT TAT (local action)
Question ID : 630680418943
Option 1 ID : 6306801634485
Option 2 ID : 6306801634483
Option 31D : 6306801634484
Option 4 ID : 6306801634486

Status : Not Answered

Chosen Option :




Q68 o 31 F e F SEETOIN, 3TN, HfE F SIS WeRW F AN F B

T & ¥ &g 39T &1 39aeT BT S 22
Ans XA TEEATE

v B FAMHTHATT
X C F=THATAT
X 0. AMEA T
Question ID : 630680418897
Option 1 ID : 6306801634302
Option 2 ID : 6306801634301
Option 31D : 6306801634299
Option 4 ID : 6306801634300
Status : Answered
Chosen Option: C
Q69 garedy Wiftger F 9w (decorative serial lamp circuit) & farw, v 9faa &
F3 6 V o9 FT GG HT AUET HY| T Aot 240 V § A o F amair
drees # TUEES 5% AT ¢
Ans o A 42 ﬁ
KB 36 o
X C. 14 o
KD 22 o
Question ID : 630680418906
Option 11D : 6306801634338
Option 2 ID : 6306801634337
Option 31D : 6306801634335
Option 4 ID : 6306801634336
Status : Answered
Chosen Option : A




0 & 7 EfE F gt av v @ ggEaT

Ans

v A HTIA HET 91T (Iron cored inductor)
X & ATg WIS IRF (Air cored inductor)

x ¢ gfyadt 9fyF (Variable inductor)

x 0. Eez 9T (Tapped inductor)

Question ID : 630680418924
Option 11D : 6306801634409
Option 2 ID : 6306801634407
Option 3 ID : 6306801634408
Option 4 ID : 6306801634410
Status : Answered
Chosen Option: C
Q71 geamafdT (alternators) Fr wex JEfET & e & fw @ e &1 3927w
Srar 22
Ans "
XA THT fer (Distance relay)
v & aradr el (Differential relay)
X c. ghlest e (Buchholz relay)
X 0. 72t er (Mho relay)
Question ID : 630680418911
Option 11D : 6306801634355
Option 2 ID : 6306801634357
Option 3 ID : 6306801634356
Option 4 ID : 6306801634358
Status : Not Answered

Chosen Option :




V7?2 sEErieR ¥ 9 vBR F Ty & 399ET BT S 2

Ans

KA
v 5 golergifored
X C. gy

x o faifaes
Question ID : 630680418928
Option 1 ID : 6306801634426
Option 2 ID : 6306801634424
Option 3 ID : 6306801634423
Option 4 ID : 6306801634425
Status : Answered
Chosen Option: B
Q73 wx mew ey qUT-aReT feveadr F afE 3 Fesdt aEfEe (secondary
winding) ¥ Vm 3Rear Siees &, & 999 RI@T SeesT (peak inverse voltage)
FaT gem?
Ans W
x A. L
2
« B 2Vm
2V
X ciE s
3
X D. 3Vm
2
Question ID : 630680418934
Option 1 ID : 6306801634447
Option 2 ID : 6306801634449
Option 3 ID : 6306801634450
Option 4 ID : 6306801634448
Status : Answered
Chosen Option : B
Q74 1 mA e @ gfade 100 3 &1 3@ 1 A THeT § ofEfdT w@r § o
gfeRIeT 1 AT FAT gE?
Ans
XA 18.182 T
V£ 0.1001 30"
7 C. 0.8002 HH
XD 1812 37
Question ID : 630680418883
Option 11D : 6306801634246
Option 2 ID : 6306801634245
Option 31D : 6306801634243
Option 4 ID : 6306801634244
Status : Answered
Chosen Option: B




Q75 e fega 3T & T9F F 3 A G F = F BV T F7W FREE

I ST =Mfge?

Ans X A BTEH FT GAAT ISIT{AT FT &AT AR

X b TFEERIE I FoSAT AMET
v o fasre & 3 a5 = FIF dsar TfgT
X 0. AfET FT T T T AT AT

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

1 630680418849

1 6306801634110
1 6306801634107
1 6306801634109
1 6306801634108

Answered
(o]

Q76 mrom sumOl #, F@ 3THOT F HES ¥ FenT R A § A e @ TR

Ans

Reufey o amw oY & T e @ wwTD R g 2
X A HEHE FOmgoT
v o faTas gamgor
X c. FIfcrR F@TEEr
% 0. f3gtoe semgoT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418881
6306801634235
6306801634237
6306801634238
6306801634236
Answered

A

Q77 7 FurRs Fr oftar T @ S 50 V FF T = ¥ w05 C #

Ans

HEFTHAT BT 87
XA 25F
¢85 0.01 F
Xc 25 nF
X0 0.01 nF

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

630680418925
6306801634412
6306801634411
6306801634414
6306801634413
Answered

Chosen Option: C




Q78 3t zarwgIE SRR B TREH HT g% A T ¥ R etk § ¥
R & g fear S 22

A KA a1et R @ R S ¥ I9EiE
X B 3 SIFAE F UT W FIT FLET
X C. F5 N SoledE F AT FH F ArSar
v 0. Fg AN FAGAT F AR FH F AT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

630680418892
6306801634282
6306801634279
6306801634280
6306801634281
Not Answered

Q79 980 rpm #r qUF A & WU 50 Hz, 6 YT WOT AT F T FIOL H
TR FY

Ans X A 8%
B 4%
X c 10%
XD 14%
Question ID : 630680418867
Option 11D : 6306801634181
Option 2 ID : 6306801634182
Option 31D : 6306801634180
Option 4 1D : 6306801634179
Status : Answered
Chosen Option: B
Q80 gfy srear et 400 V &, @ TR F FF 3-5 A yomer F e 6
FreesT 1 IFAT FL
Ans X A 50 V
XB 690 V
vC 230 V
XD 1200 V
Question ID : 630680418844
Option 11D : 6306801634090
Option 2 ID : 6306801634088
Option 31D : 6306801634089
Option 4 1D : 6306801634087
Status : Answered
Chosen Option: D




8 e § § 5w B F 3gER e I ael gt T e, S

el uRTat % FeTEe & e g@ar 27
A XA der F T A

X B N7 F1 =IH
X c e 1 TR
o
¢ 0 e T 9rT FaA
Question ID : 630680418829
Option 11D : 6306801634029
Option 2 ID : 6306801634027
Option 3 ID : 6306801634030
Option 4 ID : 6306801634028
Status : Answered
Chosen Option: B
Q82 SRR # ¥ FiF o ReeT Bl #1 99R graweER f e fevar 37
Ans : v .
XA ZEH FR F @ Yok 3T &
: i3 ; ;
X & ZHH FIT & A= e AT BT
v C. EfET, PR F FHT TEF T 2ET 2
X . Y, FAEfET F FEr TET Fr O B
Question ID : 630680418857
Option 11D : 6306801634142
Option 2 ID : 6306801634141
Option 3 ID : 6306801634139
Option 4 ID : 6306801634140
Status : Answered
Chosen Option: D
Q.83 Tahr AHEETE Teed (magnetic flux density) & T s&rE F7m 82
Ans X A Weber
X B. Ampere-turns
X ¢. Ampere-turns/m
« D. Weber/m?
Question ID : 630680418922
Option 1 1D : 6306801634399
Option 2 ID : 6306801634401
Option 3 ID : 6306801634402
Option 4 ID : 6306801634400
Status : Answered
Chosen Option: C




Q84 v 60 W geTer oo HAR X 540 lumens 3c9e #{aT ¥ o #r AT
Z&TaT (luminous efficiency) Far gefr?

Ans A 9 lumens/watt

<8 11.11 lumens/watt

K C 2222 lumens/watt

X D. 18 lumens/watt

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418907
6306801634339
6306801634340
6306801634342
6306801634341
Answered

A

W & o e # euiv 7w sieR & gEm= #

_':::h

O

g

Ans A EE?@;STF‘:I' g (Combination pliers)
v & =#eET (Pincers)
X . 3138 AT o (Round nose pliers)
X 0. futa: &fEer warm@ (Diagonal cutting pliers)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418848
6306801634106
6306801634103
6306801634104
6306801634105
Answered

(o}




Q86 A4y oMt (overhead lines) & fxfie @I (corona loss) & &7 & & fAw
feafaf@g & @ FI7 399197 ST TR £7

X A 3rF = (solid conductors) T 39T FIAT

Ans

v B g8ol ITe% (bundled conductors) T 3TTET AT
xc.
URNUR-ATES deed (transmission line voltage) & TR # Jfe

X 0. graT Fr FAE (tower height) FH FIAT

Question ID : 630680418909
Option 11D : 6306801634348
Option 2 ID : 6306801634347
Option 3 ID : 6306801634350
Option 4 ID : 6306801634349
Status : Not Answered
Chosen Option : --

Q87 3 afSdr s & fT afw DC S PtreT § @ #g @ ¥
A v Ry iR S

X & gy i AT

X ¢ o ST

X D. 3G / It SAlT

Question ID : 630680418815
Option 1 ID : 6306801633971
Option 2 ID : 6306801633972
Option 31D : 6306801633974
Option 4 ID : 6306801633973
Status : Answered
Chosen Option : B

Q88 garesr R@r (Buchholz relay) @ fersrem weile (float) e e @fdsar giar &2
Ans X A ?ﬁUT a.q.

X B s

o C. ;TgﬂT a’rq-

X D. gﬁm 3-Tr_r|3ﬁ3' ST

Question ID : 630680418860
Option 11D : 6306801634153
Option 2 ID : 6306801634152
Option 31D : 6306801634151
Option 4 ID : 6306801634154
Status : Not Answered
Chosen Option : --




Q89 zrey & =9 F FH FIF AT vH DC e FAMF 200 V DC 3T T & F1 o
s F Tgd Al IR Fug 3R O 10 A g1 I 3R 9k 0.5 A ¢,

Ans

ar AT # 9 e EMF &1 9ied &L

XKA210 V
X8 180 V
XC 205V
vD 195 V

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418814
6306801633970
6306801633967
6306801633968
6306801633969
Answered

A

490 pC oft Fex F Fw-os Bufy F A AE e WY FEH

Ans

X A

JFI-ATE F dEd, AT AT F UF FEA T 39 ol €

« B.

JFI-A1E F e, Dcénﬁmaagﬁﬁaﬂﬁr#m%

< C.

FI-AE F dgd, FU AT F WY &g & Jar §

X D.

JFI-As % dgd, DC 4l AeX waiea FamguT Sede Al B ¢

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418812
6306801633962
6306801633959
6306801633961
6306801633960
Not Answered




Q91w Fie TrawEHT F e o AN (single turn primary) 3T 200 T &Fsd
(turn secondary) & 3T W IYTT AFF 5 A VAT Fr TEHAr ¥ T 9T
(AC current) @ ATT & Bre frar smar §1 o7 coaEeT T FT AT O

Ans

(line current) 3T AT FT HFha ¢l
XA 40 A

< B 500 A

+ ¢ 1000 A

XD 200 A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680418950
6306801634511
6306801634513
6306801634514
6306801634512
Not Answered

Q92 rfrar faege EfeaT (National Electric Code)-2011 &1 fher o # fagga & &

Ans

wefte gearm gfkanst s w3 yonfert waeh feenfeader anfde 22
X A o 13
« B 9T 19
X urT 3
X 0. 4T 8

Question ID :
Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418820
6306801633991
6306801633992
6306801633994
6306801633993
Answered

A




Q.93 ¢x Jem-sFa=es DC (self-excited DC) 9 F=yeX famafafea & & frg ofreew

#F dad dlces ATHT i F e &ar 87
Ans X A

ST Fr I, Fiaw It (critical speed) & 3= &1

X B. 91, 3ETdIA AT (heutral plane) T 3T &

W C.

sz Jashea (Residual magnetism) I &g & @ 713 &1

X D.

& gfyger gfawre (field circuit resistance), Fifa® & 9fatrer (critical field

resistance) & &H &I

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418954
6306801634527
6306801634530
6306801634529
6306801634528
Not Answered

Q94 gomafds & et 3EH § NaTd FeAtaad J ¥ 5y o & gfad & 82

Ans KA-ﬁE:!gﬂ'%ﬁI'
KB dITeT S
v C WOT Al
XD gerer A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418875
6306801634214
6306801634213
6306801634212
6306801634211
Answered

c




Q95 ZRrayg ohy aEfEer awh DC mehe & 20 Reafeds @3 &1 mefe & asfEer &

A H Fo TEAN AT L
Ans X A 20
Ve 40
xc 10
X0 80
Question ID : 630680418806
Option 11D : 6306801633936
Option 21D : 6306801633937
Option 3 ID : 6306801633935
Option 4 ID : 6306801633938
Status : Answered
Chosen Option: B
Q.96 gra7 ATEHE (power MOSFET) ¥ oy # rafafia & ¥ *i9-8T 9= T &2
Ans X A
91T AE@HE (power MOSFET) #T HATGR oA #isd ¢ 3T z@s fw ofea
ST e aTel TTaeeh! @ 3aedehdr gar 2l
X B.
97ay ATEEE (power MOSFET) ts o Aufya fRa=w £
X C.
9TeY ATEGE (power MOSFET) # wfollyr # HUTeA ard 0N (negative
temperature coefficient) 2T &1
o D.
9TaY ATE%E (power MOSFET) # gfadiuss $75i= (Secondary breakdown) =&t
g &
Question ID : 630680418941
Option 11D : 6306801634477
Option 21D : 6306801634475
Option 3 ID : 6306801634476
Option 41D : 6306801634478
Status : Not Answered

Chosen Option :




¥ e AR # YgFA @ FTeT wgS W TR # g 87

X yEfirT e
x 8 HRC wg=t
v ¢ T dil 8T T
X o. T4 IFahT v

Question ID : 630680418886
Option 11D : 6306801634258
Option 2 ID : 6306801634257
Option 3 ID : 6306801634256
Option 4 ID : 6306801634255
Status : Answered
Chosen Option: C
Q098 RofRfEg & ¥ #iF a1 ey JTHAEF I7 F T F [@C WO F T
FH g &2
Ans X A
eI SR maT (aim), TET (pull), Z=T3T (squeeze), BTH FU (sweep)
o B.
=T (pull), THRIAT U3 (aim), S8T3T (squeeze), ATH FIU (sweep)
X C.
G (pull), THRTAT FEMAT (aim), ATE T (sweep), TATIHT (squeeze)
X D.
femaT Fmsit (aim), T (squeeze), TET (pull), TTF FI (sweep)
Question ID : 630680418819
Option 11D : 6306801633988
Option 2 ID : 6306801633987
Option 3 ID : 6306801633989
Option 41D : 6306801633990
Status : Answered
Chosen Option: B




ATAT ST Gehell E1

Q99 e ee g F Al SrerRe ¥ AHe #, Afvar o wemse

Ans K A 229,
+ B 66%
XC 33%
X D. 44%
Question ID : 630680418898
Option 1 ID : 6306801634304
Option 2 ID : 6306801634306
Option 3 ID : 6306801634303
Option 4 ID : 6306801634305
Status : Answered
Chosen Option: C
Q.100 : .
@ & @ Fie-ar Rasw, v g9 X T &2
Ans X A gUeRRE (Isolator)
« B Tefr o (Protective relay)
X ¢ 33 8= (Earth switch)
X o. afygy @=aes (Circuit breaker)
Question ID : 630680418913
Option 11D : 6306801634363
Option 2 ID : 6306801634365
Option 3 ID : 6306801634366
Option 4 1D : 6306801634364
Status : Answered
Chosen Option: C
Q10 mree 3w & g SRAETH (pure germanium) #r SfoRwAT FETsTET
g g
Ans A B0 ohm-cm
XB 6 x 10* ohm-cm
XC 3%x10%° ohm-cm
XD 3x10™* ohm-cm
Question ID : 630680418935
Option 11D : 6306801634452
Option 2 ID : 6306801634451
Option 3 ID : 6306801634453
Option 4 ID : 6306801634454
Status : Answered
Chosen Option: C




Q102 e ¥ TR e & e Prafafa § & #iF @ ol 7@ 37

Ans

KA.ram?ra’lmaﬁw

v 8. gHA figes Bf
X C gAT B FH
xo.m%ﬁmm

Question ID : 630680418855
Option 11D : 6306801634131
Option 2 ID : 6306801634134
Option 31D : 6306801634133
Option 4 ID : 6306801634132
Status : Answered
Chosen Option : D

1% be AT F wWRT F T 397 g B

A XA STET O BT W F T
Vb 3T gaga 9T H AfEafEg FE=
X c afy fAgEur ged e

X 0. AT H T FAIE TG HLA

Question ID : 630680418811
Option 11D : 6306801633958
Option 2 1D : 6306801633957
Option 31D : 6306801633955
Option 4 1D : 6306801633956
Status : Answered
Chosen Option: C




X B

Q104 gerasie arafier @ o IERET F @Fe o7 ISR ﬁwﬁr#ra-@amﬂﬁraﬁ
ST FiteR [

A XA g Rivex SroiET & avEe Bufa G . w9

el Fr amgfar & R F v # F7 G o w9

X ¢ grF fArver aafier & &1or oRT § §97 37§

o D.

Ffsar, AT rew & Fega-=afaeor & =91 =7 &

Question ID : 630680418899
Option 11D : 6306801634308
Option 2 ID : 6306801634310
Option 3 ID : 6306801634307
Option 4 1D : 6306801634309
Status : Answered
Chosen Option: D
Q105 zfr Rslr DC mefier Fr 3R oRT 10 A &, & IRYT TR F w=fRa orr #=v
AT =47 gRm?
Ans ¢ A 5 A
510 A
XC 20 A
XD 25 A
Question ID : 630680418810
Option 11D : 6306801633953
Option 2 1D : 6306801633952
Option 31D : 6306801633951
Option 4 1D : 6306801633954
Status : Answered
Chosen Option : A
Q106 qut.aier feseardr (full-wave rectifier) & 3ifRreas fEseator EaTaT (rectification
efficiency) 2T &l
ans KA 92.6%
v B 812%
X C 63.33%
XD 40.1%
Question ID : 630680418936
Option 11D : 6306801634458
Option 2 ID : 6306801634457
Option 31D : 6306801634456
Option 4 ID : 6306801634455
Status : Answered
Chosen Option: C




Q.107 SIE TF 9OT A H 3T Jedhiioreh IMa ¥ HiOeh T Follel & T aefrar siar

g, o 7% FEs T A I w87
Ans X A gmﬁa:lﬂrﬂﬁ‘nr
X b IHTURT (FfAaden) AT
v ¢ 3ROT S
X0 DC AT

Question ID : 630680418868
Option 11D : 6306801634184
Option 2 ID : 6306801634186
Option 31D : 6306801634183
Option 4 ID : 6306801634185
Status : Answered
Chosen Option: B

1% 3600 rpm TT T AT 2 YT FeAETAT F HgeT Fam E?

Ans A B0 Hz
X B 18 Hz
X ¢ 50 Hz
XD 30 Hz

Question ID : 630680418872
Option 11D : 6306801634199
Option 2 ID : 6306801634202
Option 3 1D : 6306801634200
Option 4 ID : 6306801634201
Status : Answered
Chosen Option : A

1% HRe FIS N GO 0T ST fahdar grar g7
Ans @A 1.1

x5 8

xch59

XD 23

Question ID : 630680418890
Option 11D : 6306801634271
Option 2 1D : 6306801634274
Option 31D : 6306801634273
Option 4 1D : 6306801634272
Status : Answered
Chosen Option : A




U1 ymFeT (pacemakers) & e Tt & ITTET BT ST £2
A X a o= i A (Lead acid cell)

X B greery el (Voltaic cell)

X ¢ fAsea-3T T (Nickel-iron cells)

v 0. T gruf@s @ (Lithium primary cells)

Question ID : 630680418948
Option 1 ID : 6306801634505
Option 2 ID : 6306801634503
Option 31D : 6306801634504
Option 4 ID : 6306801634506
Status : Answered
Chosen Option : D

Q111 500/5 A & CT % #med® & Myl TROT § F3 150% Hr o sw=wum™=
(current setting) aTer 3raRT T (over current relay) FT Re-317 FT (pick-up
current) T FE?

Ans X a1 A
X8 5 A
Xc 10 A
v 75 A

Question ID : 630680418914
Option 11D : 6306801634369
Option 2 ID : 6306801634368
Option 31D : 6306801634370
Option 4 ID : 6306801634367
Status : Answered
Chosen Option: C

Q112 oh= ameféer (street lighting) & T Fi & 9 #1 gfmar & s &7
A X A gga wférg o9 (Compact fluorescent lamps)

X B. ZITEH Fl'qls' (Tungsten filaments)

X c. fyare @rse T (Neon sign lamps)

v 0. JifgTsA a7 o (Sodium vapour lamps)

Question ID : 630680418904
Option 11D : 6306801634330
Option 2 ID : 6306801634329
Option 31D : 6306801634328
Option 4 1D : 6306801634327
Status : Answered
Chosen Option: B




Q113 pC AT F guE & G Feifa &= ¥ v TaRa & ¥ 9 @ F
HYATIT ST 2

MK AT Y F IS @ O
X B T & T Ty F AEE
v C. FIfHET F 910 T &= FuH
X 0. ZTT BT 3% 39S & fAuH

Question ID : 630680418873
Option 11D : 6306801634206
Option 2 ID : 6306801634203
Option 3 1D : 6306801634205
Option 41D : 6306801634204
Status : Answered
Chosen Option: B

Q114 gt Fresder & FeRT W 2dr &
& FEer = 500/250/125 V
urT FEAr = 20/10/5 A

125 V, 5 A i WE & forw Hex R &7 g1 e & qor SAT fRFaror
625 W &I

Ans X A 0
X B. 625
¥ C 1
XD 8

Question ID : 630680418861
Option 11D : 6306801634157
Option 2 1D : 6306801634156
Option 31D : 6306801634158
Option 4 1D : 6306801634155
Status : Answered
Chosen Option: C




U T # ¥ Fia @ e e gy # 3T 37
A X A e yaEE (TETER) FT wieRr

v 8 HFHER FEfEeT # gieRr

X ¢ HeT de (FHIA glex) & Aoy

X 0. Taegadrd giady

Question ID : 630680418832
Option 11D : 6306801634041
Option 2 ID : 6306801634039
Option 3 ID : 6306801634040
Option 4 ID : 6306801634042
Status : Answered
Chosen Option : B
Q116 o defr ofT o) A, B & 5% 1.5 V 3t 8 Ah T 77 &, # T &7
T S g o &, o = #r Ah e F=m e
Ans X A 12 Ah
+ B 32 Ah
xXc 6 Ah
X D. 16 Ah
Question ID : 630680418946
Option 11D : 6306801634497
Option 2 ID : 6306801634496
Option 3 ID : 6306801634498
Option 4 D : 6306801634495
Status : Answered
Chosen Option : A
Q17 FrEeER HY 3K LV IER $F oF Aaueeiag ooaem J, LV anfET & a1 &
Teegw =0t @ A B
Ans N + &
X A LV ITETEeT e T A g1ar
X B LV amsfEer 3w g gdr §
x c LV arefEer 30w oy e gee s 8
v 0 LV SfEe & 3T s=tar 3ae @ar §
Question ID : 630680418859
Option 11D : 6306801634147
Option 2 ID : 6306801634148
Option 3 ID : 6306801634150
Option 4 1D : 6306801634149
Status : Not Answered
Chosen Option : --




T o & g
M XA @I % TS (wood chips)
¥ B T #T T2 (glass wool)
X ¢ grferer (varnish)

X 0. HHH (mica)

Q118 o & afgdsest (outer casing) 3T 3af® ¥ (inner tank) ¥ &1 #7 Tu=

Question ID : 630680418916
Option 11D : 6306801634375
Option 21D : 6306801634377
Option 31D : 6306801634378
Option4 ID : 6306801634376
Status : Answered
Chosen Option: D
Q119 11 KV / 440 V ZHEER F1 i deds, Y-S W 426 V g1t sis
oy & aga, 78 0.92 ufFa o W 410 V 81 TEHER & fawd oo
fafTA=T (percentage violate regulation) @T IeRele Yl
Ans X A 2097
v B 3.9%
X C 20%
X D. 39%
Question ID : 630680418853
Option 1 ID : 6306801634123
Option 2 ID : 6306801634126
Option 31D : 6306801634124
Option 4 ID : 6306801634125
Status : Not Answered
Chosen Option : --
Q120 iy & fafSe S w9 (silica gel breather) &7 FaT F1& giaT &2
e KA Frees wr Rfawfag e
« B STAT T TAZUT FLAT
X ¢ HTaN ST &7 991 SF9aAT
X 0. gryeft ST T IaT AT
Question ID : 630680418851
Option 11D : 6306801634116
Option 21D : 6306801634115
Option 31D : 6306801634117
Option 41D : 6306801634118
Status : Answered
Chosen Option: B




U121 MVA & v i REROT e T TReee [ TR T S 87

Ans X A

VETAT A T URT x ITr Seda

MVA # TagRuT 8737 ar = i
;Aﬁﬁmurm= ﬁﬁmﬁa’ﬁrﬂﬁﬁx giyTer e
X C.

T T ﬂﬁ'—‘mﬁiﬂ‘s'c‘-l‘l's';:}T x gROy e
X D.

e TN I, PR AR AT arr x afigr e

L

Question ID : 630680418891
Option 11D : 6306801634277
Option 2 ID : 6306801634275
Option 31D : 6306801634278
Option 4 1D : 6306801634276
Status : Answered
Chosen Option: B

Q122 30 ohm & gfERNT 3K 40 ohm ¥ enfyar fdera @ RC Soft giTer $ir
gfaETer (impedance) Fr 0T FI

Ans A 50 ohm
# 8. 70 ohm
x c 8.36 ohm
X 0. 10 ohm

Question ID : 630680418930
Option 11D : 6306801634434
Option 2 ID : 6306801634432
Option 31D : 6306801634431
Option 4 ID : 6306801634433
Status : Answered
Chosen Option: D




U128 SCR &1 #ia ¥ W s T e 7T F F IR F A 2
Ans o ) E»‘Iﬁ'n‘TﬂﬁT

v e 12t I

X ¢ RMS o &

X 0 di/dt 3T

Question ID : 630680418821
Option 11D : 6306801633998
Option 2 ID : 6306801633997
Option 3 1D : 6306801633996
Option 4 ID : 6306801633995
Status : Answered
Chosen Option: C

Q124 Fe sfedus 4ot 7 & 3 gu €, S & ampfa & qeir v ) wiowius R3

# Fees & A T afeed #
Rl R2 R3
VAV A VAN AV A Ve FAVA VAN
20V 60V ?
«—> «—>
P 100V -
Ans XA 120 V
XB 80V
+C 20V
A<D 100 V

Question ID : 630680418830
Option 11D : 6306801634034
Option 2 ID : 6306801634032
Option 3 1D : 6306801634031
Option 4 1D : 6306801634033
Status : Answered
Chosen Option: C




Q125 ofez P (lightning arrestors) & TSTET STy FT 39AT F4T a1 =mar &2
Ans X A

FH Aedsl T, USTEE TeF =Tl IG1Y & & H H Har ¢ 3T 5=7 deesd W
77 T T F T H FE T

o B.
FH FoeT W, ASUSC TF -1l ISy F T H FF FIdm g 3HT 3= Soe
W TE T GO F T H FE A &
X c
TF FH T 3=7 SiecT W TF I S & FF H FE FAT 2
X D.
Ig FH AT =9 dieesd I Th IR-Tohery & §T H 1 Il g
Question ID : 630680418824
Option 1.1D : 6306801634007
Option 2 ID : 6306801634010
Option 3 ID : 6306801634009
Option 4 ID : 6306801634008
Status : Answered
Chosen Option : A
Q126 BiS ¥ @R, PVC $geRs el Frel Ole] amiiter Somel & $germe gforty &
T A O @R AT ST 32
Ans X A
S STaTe &7 Alsteh Aol = 20 " s
gfyoyr # gise Fraear
o B.
g 12.5
S FTeRTe 3T Al Al = N —— A 3HA
gi¥ger 7 grse Hr gEar
X c
: 12.5
S FTeRTer ST ATeTsh Al = — — et HiH
gfyer & gise Frgear
X D.
SR TR &7 Aol Al = 20 eram
gi{qe 7 gise 1 g&am
Question ID : 630680418895
Option 11D : 6306801634292
Option 2 ID : 6306801634291
Option 31D : 6306801634293
Option 41D : 6306801634294
Status : Answered
Chosen Option: C




W e e 3T & 3fFT W F g T FEd weg Tea 2
e XA fRremdT e § FAT

v 8 ZITEEA Themde & arsdieor T a7 H &

X c. T & EE H FAT

X 0. EIFEA HT GIRIHAT # i

Question ID : 630680418900
Option 11D : 6306801634313
Option 2 ID : 6306801634311
Option 31D : 6306801634314
Option 4 ID : 6306801634312
Status : Answered
Chosen Option: D
Q128 drer Tar Fr geasfE, Fer T H WA R T ATen FF0T HFER FOGET
Thd, @ gl
Ans £
X A FHAT Hebel
X B Sy Tea
X ¢ faarr ga
v 0 AFEA Tohd
Question ID : 630680418817
Option 1 ID : 6306801633979
Option 2 ID : 6306801633980
Option 3 ID : 6306801633981
Option 4 ID : 6306801633982
Status : Answered
Chosen Option: C
Q129 Mo @ifer (hysteresis loss) & FRUT 70T e (dissipation of energy)
F wT F Tmar g
Ans  a AT (heat)
X 8. 2T |@iFTar (radio activity)
X c. gIETFEOST g (increased permeability)
X 0. sfal@a HfFaE (additional flux)
Question ID : 630680418921
Option 11D : 6306801634398
Option 2 ID : 6306801634395
Option 31D : 6306801634396
Option 4 ID : 6306801634397
Status : Not Answered
Chosen Option : --




U Grfefed d ¥ P meiE # goaes ST wel ST 87

Ans

X A DC #f=T
X B gyuT AT
X ¢ g exERa
- CICE

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418877
6306801634221
6306801634222
6306801634220
6306801634219
Answered

A

Q131 oy v sfertem & are, FEh, At AR gEEY F F a0 ¥ ¥, @ gRRuw

Ans

F AT FaaT 37

XA +2% WETAT & "YU 72,000 HH
X B. +1% TETaT & @Y 56,000 31H
v C. +5% TETaT % Ty 27,000 3T
XD +3% WEOST & WY 32,000 HH

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418831
6306801634037
6306801634038
6306801634036
6306801634035
Not Answered

Q132 7 a7 aftg Ju= (lightning arrestor), &RT & HFET F AufFT 3gfea (power

Ans

frequency) T ST FET FTaT &2

v A T 9 (Rod gap)

X 8. f@swmras 9T (Expulsion type)
X ¢. BT 9R (Disc type)

X 0. dled gahT (Valve type)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680418910
6306801634351
6306801634352
6306801634354
6306801634353
Answered

A




Q133 | #dsr MCB #r feafaea # ¥ forw Rmy & e F R Rema

T 27
Ans XA DC T
X o emfeE
X C. o @i
v 0 gfeRredy qiayr
Question ID : 630680418889
Option 1 ID : 6306801634269
Option 2 ID : 6306801634267
Option 31D : 6306801634268
Option 4 ID : 6306801634270
Status : Answered
Chosen Option: C
Q.134 &
DC =fw # 3fta EMF e amegnfaes g 872
Ans r .
XA Tafeere Jffaea fr o= &
X 5. BHT Fell T TEAT F
X ¢ gETer Hgied &
v o 38 7fa &, 5w 9 Ffas gftta ger @
Question ID : 630680418809
Option 11D : 6306801633949
Option 21D : 6306801633948
Option 31D : 6306801633950
Option 41D : 6306801633947
Status : Answered
Chosen Option: D
Q.135 5 L i g
gooad aiEfE (duplex winding) 3 grer dzg . #relEE s e
grer =T
Ans *
X At feFaflaas @S (one commutator segment)
X & &7 feeafigas @ (three commutator segments)
X ¢ g7 Reaaas T (four commutator segments)
v 0. g fgeafEas @3 (two commutator segments)
Question ID : 630680418933
Option 1 ID : 6306801634443
Option 2 ID : 6306801634445
Option 31D : 6306801634446
Option 4 ID : 6306801634444
Status : Answered
Chosen Option: D




& gfssar a7 Fgenar 82

A XA faegeARoT (electrocution)
X 5. f9ega T7AT (electrocoupling)
v ¢ faega-ede (electroplating)

Q136 Rrega swes (electrolysis) FANT TH oI HT gEA o1 FT HAg R eI &

D. - i
x ﬁE[-‘-‘lHJ TFehcd (electromagnetism)
Question ID : 630680418942
Option 1 ID : 6306801634481
Option 2 ID : 6306801634479
Option 3 ID : 6306801634482
Option 41D : 6306801634480
Status : Answered
Chosen Option: C
Q137 feg g HAeT (shaded pole motor) & eote #r fEer @=m g 872
Ans + .t s
XA T asfEer o e TsfEe #r HR
X B gIfgd H9T ¥ 3oIea E°T & #Y
v C TIed 91T ¥ Sifed 99T Fr 3T
X 0. TETe (start) I1EfEe & I (run) T=fEer $ir 3K
Question ID : 630680418870
Option 1 ID : 6306801634194
Option 2 ID : 6306801634191
Option 31D : 6306801634192
Option 4 ID : 6306801634193
Status : Answered
Chosen Option: D
138 P :
138 pe mﬁﬂaﬁﬁwﬁgﬁzﬁﬁramﬂﬂﬁ T FIAT FROT &7
Ans * +
& A Eruﬁa-?“ F BT W Helst g &1ar
X 8. Afie Fr 71ty Fe=r
X ¢ dredst AT 7 giE e
X0 AT URT B HT g HE
Question ID : 630680418807
Option 11D : 6306801633940
Option 21D : 6306801633942
Option 31D : 6306801633941
Option 41D : 6306801633939
Status : Answered
Chosen Option: D




FR FYAGH e F HAUS FIT AT ATET?

Q139 |E frgwt & @R o 3R #eaw S oiEal & T gew & sy ofF F

Ans XA 88 m
XB 32 m
XC 105 m
D 55 m
Question ID : 630680418887
Option 11D : 6306801634260
Option 2 ID : 6306801634262
Option 3 ID : 6306801634261
Option 4 ID : 6306801634259
Status : Answered
Chosen Option : B
Q140 gezamea Ae (alkaline cells) & RFE Segasmaes (electrolyte) FT 3@ f&ar
1T 82
Ans X A
AT gegiaalie: ¥l (Concentrated hydrochloric acid)
X B ¥ATATH FeEs (Ammonium chloride)
X c. @] HeugiYeh 3F (Dilute sulphuric acid)
v 0. OrefETs giesrdigs (Potassium hydroxide)
Question ID : 630680418949
Option 11D : 6306801634510
Option 2 ID : 6306801634508
Option 3 ID : 6306801634507
Option 4 ID : 6306801634509
Status : Not Answered
Chosen Option : --
Q.141 &
DC AeT # 39+« A0t EMF & e a1 gidr 27
Ans
X A gor &y OO FroFE FTEAT
X B #Arex Fr g Fr w=-faaEa 7=
v ¢ AT @ g uR & w-Reaag s
X 0. AT H I &6 Fr dT9E FET
Question ID : 630680418813
Option 11D : 6306801633966
Option 2 ID : 6306801633963
Option 3 ID : 6306801633964
Option 4 ID : 6306801633965
Status : Answered
Chosen Option: C




Q142 25t &Y Aofr 3T FAK F7 H e v e 78 I 1 TR G F 6 V
T 4 Ah s7Far 7 EeTEar £ AT Sweew @wr 15 V AR 2 Ah F & S Tt
FT TTF TSI FIT BEN?

" H\;A%tiﬁﬂﬁ4auﬁmﬁ§$maﬁr2mﬁ%ﬁ
%ﬁﬁ4wmﬁ§$mmﬁr4mﬁﬁ%ﬁ
%ﬁﬁzwmﬁﬂgmmzmﬁﬁ%ﬁ
:F;%tiﬁﬂﬁzauﬁmﬁﬂ?mmﬁmmm

Question ID : 630680418947
Option 11D : 6306801634499
Option 2 ID : 6306801634501
Option 31D : 6306801634502
Option 4 ID : 6306801634500
Status : Not Answered
Chosen Option : --

Q.143 frafafea & @ frw 1S R § 3 1 5ga #07 @ | e aE@ 5 fw
== T ST &, S 9T &7 & 2% H 3% giar 87

X A gFE AT (Boost charge)

v & f&Fer =1t (Trickle charge)

X ¢ grifétes ==t (Initial charge)

X 0. RefeeT =M= (Freshening charge)

Ans

Question ID : 630680418945
Option 11D : 6306801634494
Option 2 ID : 6306801634492
Option 31D : 6306801634491
Option 4 1D : 6306801634493
Status : Answered
Chosen Option : A




Q144 o R Fawes giered =s, S & & 7 ampfy & R v §, 3%, 440
V, 50 Hz 3mfe & 37 &1 519 T fowues 31 e S ¢, ar | 7 afFa-

&7F (power dissipation) fFa=T g9 m?

R

ox
3-8, 400 V amqfe
YO
oY
Ans XA 4000 W
+ B 8000 W
xXc 2000 W
X Db 16,000 W
Question ID : 630680418846
Option 11D : 6306801634096
Option 2 ID : 6306801634097
Option 31D : 6306801634095
Option 4 1D : 6306801634098
Status : Answered
Chosen Option: B
Q.145 : :
10 HP, 15 A 1T @ ifia wger Afer sempr fasae 22
Ans o A 23 A
X8 35 A
Xc17 A
XD 30 A
Question ID : 630680418863
Option 11D : 6306801634164
Option 2 1D : 6306801634166
Option 31D : 6306801634163
Option 4 1D : 6306801634165
Status : Answered
Chosen Option: C




Ans

Q16 & Ty ¥ RETT T TEEHR F Fa @ e B 32

5 DR Tt i T T8

v A 3TS AL FioeT (Oil natural cooling)

X B.

T AL 3eT BIES FHfower (Oil natural water forced cooling)
x C.

TSI HITE TI HITE E{:‘ﬁl‘n‘T (Qil forced air forced cooling)
X D.

T ﬁa!?rm BT Hﬁﬁﬂ (Oil natural air forced cooling)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680418858
6306801634146
6306801634143
6306801634144
6306801634145
Answered

A

Ans

O T A F T H AeRRa A ST s T

X a F FIT AT FT AT HIETFHS FA 2 gl
X 5 T FET AT H HIETHI FA TIoS ORI Eiar g

v o RIGd Arer F1 yade et TR FH g B

X D.
sl Fiey &t goie wioly TR & WY g% fear S wwar g

Option 2 ID

Option 4 1D

Question ID :
Option 11D :

630680418865
6306801634171

: 6306801634174
Option 31D :

6306801634173

: 6306801634172
Status :
Chosen Option :

Not Answered




Ans A 312.5 ohm

Q148 200 W, 230 V IR a1 o F I giaRy T 9RweT Y

X B 1.15 ohm
¢ C 2645 ohm
X D. 0.869 ohm
Question ID : 630680418826
Option 11D : 6306801634015
Option 2 1D : 6306801634018
Option 31D : 6306801634016
Option 4 ID : 6306801634017
Status : Answered
Chosen Option: D
Q.149 : :
a1 7T HWFpia H fTme 7% Rasw # 9w
TA
G
K
Ans =)
X A HiE®he (MOSFET)
x & g (TRIAC)
v C. SEraT (GTO)
X D. 3-T|é3ﬂﬁ’lﬂ' (1GBT)
Question ID : 630680418938
Option 11D : 6306801634463
Option 2 ID : 6306801634464
Option 31D : 6306801634466
Option 4 ID : 6306801634465
Status : Answered
Chosen Option: B




4T AC 3k DC g = Fia @ Hex wwor A 32
A XA DC eiE AT
X b Jogelioh Al

¢ C. FFRTLTT AT
X 0. J@TAT AT

Question ID : 630680418871
Option 11D : 6306801634198
Option 2 ID : 6306801634195
Option 31D : 6306801634196
Option 4 ID : 6306801634197
Status : Answered
Chosen Option : B




